CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG

 BID OPENING DATE:
 SEPTEMBER 12, 2024

 BID OPENING LOCATION:
 LJA ENGINEERING, IN TABULATION BY:

 TABULATION DATE:
 SEPTEMBER 12, 2024

LJA JOB NO. 0386-5861D (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

1) TEXASITE, LLC	\$3,772,875.50
2) DIMAS BROS. CONSTRUCTION	\$3,781,100.00
3) CROSTEX CONSTRUCTION INC.	\$3,795,000.00
4) BLAZEY CONSTRUCTION SERVICES LLC	\$3,999,937.70
5) KENNETH LAMB CONSTRUCTION CO.,LTD.	\$4,119,473.15
6) PRINCIPAL SERVICES, LTD	\$4,302,447.70
7) R CONSTRUCTION CIVIL, LLC	\$4,409,287.30

CALENDAR DAYS 90/120

EVAN P. ROHNE

137866

CENSE

ONAL

O9/16/24

Page 1 of 28

4, EVAN ROHNE , P.E., hereby certify these bid tabulations to be true and correct.

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024

207.002.00			000	4) TEVACIT	T 110	O) DIMAC BROS. O	ONCEDUCTION	a) opertry conc	STRUCTION INC
				1) TEXASIT		2) DIMAS BROS. CO		3) CROSTEX CONS	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SECTION 1 PART A WATER ITEMS									
	18, ALL DEPTHS, TO INCLUDE BEDDING, ALL AND RETRAINED JOINTS WHERE REQUIRED,	LF	2419	\$71.00	\$171,749.00	\$63.50	\$153,606.50	\$65.75	\$159,049.25
	14, ALL DEPTHS, TO INCLUDE BEDDING, ALL AND RESTRAINED JOINTS WHERE REQUIRED,	LF	200	\$112.00	\$22,400.00	\$93.00	\$18,600.00	\$119.00	\$23,800.00
3 STEEL CASING FOR 12" WATER I COMPLETE IN PLACE	LINE, INCLUDES SPACERS AND END SEALS,	LF	200	\$1.00	\$200.00	\$85.50	\$17,100.00	\$108.00	\$21,600.00
4 PVC CASING FOR 12" WATER LIN CEMENT STABILIZED SAND, COM	IE AT ALL PAVEMENT CROSSINGS, INCLUDES IPLETE IN PLACE	LF	30	\$111.00	\$3,330.00	\$115.00	\$3,450.00	\$121.00	\$3,630.00
	8, ALL DEPTHS, TO INCLUDE BEDDING, ALL AND RESTRAINED JOINTS WHERE REQUIRED,	LF	863	\$28.00	\$24,164.00	\$31.65	\$27,313.95	\$25.00	\$21,575.00
6 PVC CASING FOR 6" WATER LINE CEMENT STABILIZED SAND, COM	E AT ALL PAVEMENT CROSSINGS, INCLUDES IPLETE IN PLACE	LF	60	\$69.00	\$4,140.00	\$78.25	\$4,695.00	\$92.00	\$5,520.00
7 FIRE HYDRANT UNIT, ALL DEPTH AND BOX, 6" LEAD AND FIRE HYD	IS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE DRANT, COMPLETE IN PLACE	EA	8	\$5,305.00	\$42,440.00	\$5,584.00	\$44,672.00	\$5,500.00	\$44,000.00
	SERVICE, 1" (CTS POLYETHYLENE, SDR-9), NCH SAFETY, METER BOX, CURB STOP, AND ALL TAPS, COMPLETE IN PLACE	EA	15	\$688.00	\$10,320.00	\$684.00	\$10,260.00	\$775.00	\$11,625.00
	ERVICE, 1" (CTS POLYETHYLENE, SDR-9), ER BOX, CURB STOP, TRENCH SAFETY AND ALL TAPS, COMPLETE IN PLACE	EA	13	\$1,325.00	\$17,225.00	\$1,484.00	\$19,292.00	\$1,335.00	\$17,355.00
10 12" AWWA GATE VALVE AND BO	X, COMPLETE IN PLACE	EA	4	\$3,492.00	\$13,968.00	\$3,075.00	\$12,300.00	\$3,350.00	\$13,400.00
11 6" AWWA GATE VALVE AND BOX	, COMPLETE IN PLACE	EA	2	\$1,265.00	\$2,530.00	\$1,200.00	\$2,400.00	\$1,170.00	\$2,340.00
	FOR 12" WATER LINE, (EXCLUDES CARRIER ACERS AND END SEALS, ALL DEPTHS,	LF	200	\$227.00	\$45,400.00	\$250.00	\$50,000.00	\$200.00	\$40,000.00
13 12" X 6" T.S. & V., COMPLETE IN F	PLACE	EA	1	\$2,980.00	\$2,980.00	\$5,884.00	\$5,884.00	\$9,700.00	\$9,700.00
14 12" PLUG AND CLAMP WITH 2" BI COMPLETE IN PLACE	LOW OFF VALVE AND ASSEMBLY BOX,	EA	1	\$2,270.00	\$2,270.00	\$984.00	\$984.00	\$1,910.00	\$1,910.00
15 6" PLUG AND CLAMP WITH 2" BLO IN PLACE	DW OFF VALVE AND ASSEMBLY BOX, COMPLETE	EA	2	\$2,161.00	\$4,322.00	\$784.00	\$1,568.00	\$1,635.00	\$3,270.00
16 1" SCHEDULE 40 PVC WATER LIN EXCAVATION, BACKFILL AND BE	NE, ALL DEPTHS, INCLUDING FITTINGS, DDING, COMPLETE IN PLACE	LF	60	\$18.00	\$1,080.00	\$15.15	\$909.00	\$20.00	\$1,200.00
17 TRENCH SAFETY SYSTEM, ALL DEWATERING OF WATER LINE WENGINEER), COMPLETE IN PLACE	VORK (TO BE USED ONLY AS DIRECTED BY THE	LF LF	3282 600	\$1.00 \$22.00	\$3,282.00 \$13,200.00	\$1.00 \$22.00	\$3,282.00 \$13,200.00	\$1.05 \$22.00	\$3,446.10 \$13,200.00
19 HAUL, PLACE, AND COMPACT W. DIRECTED BY THE ENGINEER), C	ATER LINE UTILITY SPOIL, ON LOTS (AS COMPLETE IN PLACE	LS	1	\$2,724.00	\$2,724.00	\$3,000.00	\$3,000.00	\$2,200.00	\$2,200.00
20 EXTRA CAST IRON FITTINGS (AS PLACE	DIRECTED BY THE ENGINEER), COMPLETE IN	TON	1	\$1.00	\$1.00	\$100.00	\$100.00	\$2,000.00	\$2,000.00
SECTION 1 PART A WATER ITEMS SUB	TOTAL:				\$387,725.00		\$392,616.45		\$400,820.35

0386-5861D (9.2)

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218
MONTGOMERY COUNTY, TEXAS
SEPTEMBER 12, 2024
LJA ENGINEERING, INC.
S. YOUNG

20.002.00		00		=			.,	
			1) TEXASIT		2) DIMAS BROS. CO		3) CROSTEX CONS	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SECTION 1 PART A SANITARY SEWER ITEMS								
1 8" PVC SEWER PIPE, STM D-3034, SDR 26, 0'-8' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	231	\$47.00	\$10,857.00	\$45.95	\$10,614.45	\$34.50	\$7,969.50
2 8" PVC SEWER PIPE, STM D-3034, SDR 26, 8'-12' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1085	\$49.00	\$53,165.00	\$47.85	\$51,917.25	\$38.25	\$41,501.25
3 8" PVC SEWER PIPE, STM D-3034, SDR 26, 12"-16" CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	199	\$50.00	\$9,950.00	\$56.65	\$11,273.35	\$41.75	\$8,308.25
4 8" PVC SEWER PIPE, STM D-3034, SDR 26, 16'-20' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	861	\$53.00	\$45,633.00	\$58.00	\$49,938.00	\$49.00	\$42,189.00
5 8" PVC SEWER PIPE, STM D-3034, SDR 26, 20"-24" CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	559	\$80.00	\$44,720.00	\$60.70	\$33,931.30	\$66.00	\$36,894.00
6 SANITARY SEWER FORCE MAIN PLUG AND CLAMP, (ALL SIZES), ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$442.00	\$442.00	\$700.00	\$700.00	\$500.00	\$500.00
7 6" PVC FORCE MAIN, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	397	\$50.00	\$19,850.00	\$36.45	\$14,470.65	\$38.00	\$15,086.00
8 PVC CASING FOR 8" SANITARY SEWER, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	140	\$121.00	\$16,940.00	\$50.00	\$7,000.00	\$83.00	\$11,620.00
9 DRY AUGER AND STEEL CASING FOR 8" SANITARY SEWER, (EXCLUDES CARRIER PIPE), INCLUDES RESTRAINED JOINT PIPE AND BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	150	\$227.00	\$34,050.00	\$274.00	\$41,100.00	\$230.00	\$34,500.00
10 DRY AUGER AND STEEL CASING FOR 6" PVC FORCE MAIN, (EXCLUDES CARRIER PIPE), INCLUDES RESTRAINED JOINT PIPE AND BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	150	\$198.00	\$29,700.00	\$248.00	\$37,200.00	\$187.00	\$28,050.00
11 STANDARD SANITARY SEWER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (8' DEPTH), COMPLETE IN PLACE	EA	19	\$2,895.00	\$55,005.00	\$3,784.00	\$71,896.00	\$3,000.00	\$57,000.00
12 EXTRA VERTICAL DEPTH OF STANDARD SANITARY SEWER MANHOLE, (OVER 8' DEPTH), COMPLETE IN PLACE	VF	111	\$187.00	\$20,757.00	\$140.00	\$15,540.00	\$300.00	\$33,300.00
13 STANDARD 2' SANITARY SEWER DROP STRUCTURE, (FOR 6" DIAMETER SERVICE LEADS), COMPLETE IN PLACE	EA	2	\$624.00	\$1,248.00	\$684.00	\$1,368.00	\$400.00	\$800.00
14 EXTRA VERTICAL DROP (OVER 2') FOR SANITARY SEWER INTERNAL DROP STRUCTURE (FOR 6" DIAMETER SERVICE LEADS), COMPLETE IN PLACE	VF	14	\$34.00	\$476.00	\$10.00	\$140.00	\$40.00	\$560.00
15 STANDARD 2' SANITARY SEWER DROP STRUCTURE, COMPLETE IN PLACE	EA	5	\$650.00	\$3,250.00	\$784.00	\$3,920.00	\$500.00	\$2,500.00
16 EXTRA VERTICAL DEPTH (OVER 2') FOR SANITARY SEWER DROP STRUCTURE, COMPLETE IN PLACE	VF	39	\$34.00	\$1,326.00	\$15.00	\$585.00	\$50.00	\$1,950.00
17 "LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED BACKFILL, TRENCH SAFETY, RISER, WYE, STACKS, PLUG, MARKER AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	16	\$2,547.00	\$40,752.00	\$3,265.00	\$52,240.00	\$2,540.00	\$40,640.00
18 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED BACKFILL, TRENCH SAFETY, RISER, WYE, STACKS, .PLUG, MARKER AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	15	\$909.00	\$13,635.00	\$1,113.00	\$16,695.00	\$1,200.00	\$18,000.00
19 STANDARD 6" SANITARY SEWER STACK, COMPLETE IN PLACE	EA	2	\$428.00	\$856.00	\$50.00	\$100.00	\$300.00	\$600.00

SEPTEMBER 12, 2024

0386-5861D (9.2)

 Page 3 of 28
 FRN F-1386

 LJA Engineering, Inc.
 L/A Engineering of the control o

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024

				1) TEXASIT	E, LLC	2) DIMAS BROS. CO	ONSTRUCTION	3) CROSTEX CONS	TRUCTION INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
20	EXTRA VERTICAL DEPTH ON SANITARY SEWER STACK (OVER 1.5' DEPTH), COMPLETE IN PLACE	VF	22	\$34.00	\$748.00	\$10.00	\$220.00	\$30.00	\$660.00
21	8" SANITARY SEWER PLUG, COMPLETE IN PLACE	EA	1	\$437.00	\$437.00	\$84.00	\$84.00	\$100.00	\$100.00
	REMOVE AND DISPOSE OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER	EA	1	\$664.00	\$664.00	\$184.00	\$184.00	\$1,000.00	\$1,000.00
23	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	3147	\$1.00	\$3,147.00	\$1.00	\$3,147.00	\$4.50	\$14,161.50
24	DEWATERING OF 8" SANITARY SEWER LINE WORK, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$27.00	\$27,000.00	\$22.00	\$22,000.00	\$22.00	\$22,000.00
25	ADDITIONAL COST OF SANITARY SEWER BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$8.00	\$8,000.00	\$8.00	\$8,000.00	\$8.00	\$8,000.00
	HAUL, PLACE AND COMPACT SANITARY SEWER UTILITY SPOIL ON DESIGNATED FILL AREAS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$4,540.00	\$4,540.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
27	CONTRACTOR SHALL TV AND CLEAN PROPOSED SANITARY SEWER (ALL SIZES) , COMPLETE IN PLACE	LF	3147	\$0.05	\$157.35	\$3.25	\$10,227.75	\$0.10	\$314.70
SECT	ON 1 PART A SANITARY SEWER ITEMS SUBTOTAL:				\$447,305.35		\$468,491.75		\$432,204.20
SECT	ION 1 PART A DRAINAGE FACILITIES ITEMS								
	18" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	328	\$68.00	\$22,304.00	\$77.65	\$25,469.20	\$66.00	\$21,648.00
2	24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	250	\$83.00	\$20,750.00	\$90.65	\$22,662.50	\$79.00	\$19,750.00
3	30" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	675	\$105.00	\$70,875.00	\$112.50	\$75,937.50	\$100.00	\$67,500.00
4	36" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	373	\$150.00	\$55,950.00	\$150.50	\$56,136.50	\$138.00	\$51,474.00
	STAGE I - STANDARD (TYPE "C") INLET, ALL DEPTHS, INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE I INLETS, COMPLETE IN PLACE	EA	15	\$1,816.00	\$27,240.00	\$1,135.00	\$17,025.00	\$3,000.00	\$45,000.00
6	STAGE II - STANDARD (TYPE "C") INLET, COMPLETE IN PLACE	EA	15	\$1,816.00	\$27,240.00	\$1,655.00	\$24,825.00	\$700.00	\$10,500.00
7	TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$3,178.00	\$19,068.00	\$3,025.00	\$18,150.00	\$3,550.00	\$21,300.00
8	6:1 SAFETY END TREATMENT FOR 24" CULVERT, COMPLETE IN PLACE	EA	2	\$2,213.00	\$4,426.00	\$1,300.00	\$2,600.00	\$3,500.00	\$7,000.00
9	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	1477	\$1.00	\$1,477.00	\$1.00	\$1,477.00	\$1.05	\$1,550.85
10	DEWATERING OF STORM SEWER LINE WORK, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$22.00	\$11,000.00	\$22.00	\$11,000.00	\$22.00	\$11,000.00
	ADDITIONAL COST FOR STORM SEWER BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$8.00	\$4,000.00	\$8.00	\$4,000.00	\$8.00	\$4,000.00
	HAUL, PLACE, AND COMPACT STORM SEWER UTILITY SPOIL ON LOTS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$4,994.00	\$4,994.00	\$4,000.00	\$4,000.00	\$2,000.00	\$2,000.00
13	5" CONCRETE SLOPE PAVING, COMPLETE IN PLACE	SY	6	\$283.00	\$1,698.00	\$110.00	\$660.00	\$500.00	\$3,000.00

0386-5861D (9.2)

 Page 4 of 28
 FRN F-1386

 LJA Engineering, Inc.
 L/A Engineering of Local Control Co

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024

			1) TEXASIT	EUC	2) DIMAS BROS. CC	NSTRUCTION	3) CROSTEX CONS	TRUCTION INC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
14 DRAINAGE SWALES, "V" BOTTOM, 3:1 SIDE SLOPES, COMPLETE IN PLACE	LF	455	\$5.00	\$2,275.00	\$4.50	\$2,047.50	\$4.00	\$1,820.00
15 18" RIP-RAP, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	SY	14	\$170.00	\$2,380.00	\$84.00	\$1,176.00	\$250.00	\$3,500.00
SECTION 1 PART A DRAINAGE FACILITIES ITEMS SUBTOTAL:	31	14	\$170.00	\$275,677.00	\$6 4 .00	\$267,166.20	\$230.00	\$271,042.85
SECTION 1 PART A DISABINAGE PAGILITIES TEMS SUBTOTAL.				\$275,677.00		\$207,100.20		\$271,042.05
REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	6779	\$0.25	\$1,694.75	\$0.25	\$1,694.75	\$0.01	\$67.79
2 CONSTRUCT AND MAINTAIN STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
3 EXTRA CEMENT STABILIZED SAND, COMPLETE IN PLACE	CY	50	\$20.00	\$1,000.00	\$20.00	\$1,000.00	\$25.00	\$1,250.00
4 HYDROMULCH SEEDING AND FINE GRADING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1.3	\$1,000.00	\$1,300.00	\$1,000.00	\$1,300.00	\$1,000.00	\$1,300.00
5 BROADCAST SEEDING, FERTILIZING AND WATERING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	34	\$600.00	\$20,400.00	\$600.00	\$20,400.00	\$600.00	\$20,400.00
6 STORMWATER POLLUTION PREVENTION PLAN COMPLIANCE, COMPLETE IN PLACE	LS	1	\$1,362.00	\$1,362.00	\$800.00	\$800.00	\$814.76	\$814.76
7 CONSTRUCT, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT, COMPLETE IN PLACE	E EA	1	\$50.00	\$50.00	\$500.00	\$500.00	\$750.00	\$750.00
8 INLET PROTECTION BARRIER FOR STAGE II INLETS (GRAVEL BAGS), COMPLETE IN PLACE	EA	15	\$11.00	\$165.00	\$20.00	\$300.00	\$40.00	\$600.00
SECTION 1 PART A MISCELLANEOUS ITEMS SUBTOTAL:				\$27,471.75		\$27,494.75		\$26,682.55
SECTION 1 PART B WATER ITEMS								
1 12" PVC WATER PIPE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING, ALL NECESSARY BENDS, FITTINGS, AND RETRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	3650	\$68.00	\$248,200.00	\$63.80	\$232,870.00	\$66.25	\$241,812.50
2 STEEL CASING FOR 12" WATER LINE, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	52	\$1.00	\$52.00	\$78.00	\$4,056.00	\$112.00	\$5,824.00
3 PVC CASING FOR 12" WATER LINE AT ALL PAVEMENT CROSSINGS, INCLUDES CEMENT STABILIZED SAND, COMPLETE IN PLACE	LF	120	\$109.00	\$13,080.00	\$88.00	\$10,560.00	\$119.00	\$14,280.00
4 8" PVC WATER PIPE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING, ALL NECESSARY BENDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	4175	\$38.00	\$158,650.00	\$41.40	\$172,845.00	\$36.00	\$150,300.00
5 8" PVC WATER PIPE, C-900, DR 14, ALL DEPTHS, TO INCLUDE BEDDING, ALL NECESSARY BENDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	150	\$56.00	\$8,400.00	\$54.00	\$8,100.00	\$51.00	\$7,650.00
6 STEEL CASING FOR 8" WATER LINE, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	52	\$1.00	\$52.00	\$54.00	\$2,808.00	\$89.00	\$4,628.00
7 PVC CASING FOR 8" WATER LINE AT ALL PAVEMENT CROSSINGS, INCLUDES CEMENT STABILIZED SAND, COMPLETE IN PLACE	LF	160	\$118.00	\$18,880.00	\$71.00	\$11,360.00	\$88.00	\$14,080.00
8 6" PVC WATER PIPE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING, ALL NECESSARY BENDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	242	\$29.00	\$7,018.00	\$32.05	\$7,756.10	\$26.50	\$6,413.00
9 FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE AND BOX, 6" LEAD AND FIRE HYDRANT, COMPLETE IN PLACE	E EA	18	\$5,250.00	\$94,500.00	\$5,350.00	\$96,300.00	\$5,800.00	\$104,400.00

0386-5861D (9.2)

 Page 5 of 28
 FRN F-1386

 LJA Engineering, Inc.
 1, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024 0386-5861D (9.2)

				1) TEXASIT	E, LLC	2) DIMAS BROS. C	ONSTRUCTION	3) CROSTEX CONS	TRUCTION INC.
ITEM	DESCRIPTION DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10	NEAR SIDE, DOUBLE OR SINGLE SERVICE, 1" (CTS POLYETHYLENE, SDR-9), WATER SERVICE INCLUDES TRENCH SAFETY, METER BOX, CURB STOP, AND ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	42	\$675.00	\$28,350.00	\$625.00	\$26,250.00	\$730.00	\$30,660.00
11	FAR SIDE, DOUBLE OR SINGLE SERVICE, 1" (CTS POLYETHYLENE, SDR-9), WATER SERVICE INCLUDES METER BOX, CURB STOP, TRENCH SAFETY AND ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	67	\$1,341.00	\$89,847.00	\$1,384.00	\$92,728.00	\$1,375.00	\$92,125.00
12	12" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	8	\$3,492.00	\$27,936.00	\$3,075.00	\$24,600.00	\$3,350.00	\$26,800.00
13	8" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	11	\$1,873.00	\$20,603.00	\$1,650.00	\$18,150.00	\$1,775.00	\$19,525.00
14	DRY AUGER AND STEEL CASING FOR 12" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, SPACERS AND END SEALS, ALL DEPTHS, COMPLETE IN PLACE	LF	52	\$207.00	\$10,764.00	\$250.00	\$13,000.00	\$230.00	\$11,960.00
15	DRY AUGER AND STEEL CASING FOR 8" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, SPACERS AND END SEALS, ALL DEPTHS, COMPLETE IN PLACE	LF	52	\$207.00	\$10,764.00	\$205.00	\$10,660.00	\$210.00	\$10,920.00
16	12" PLUG AND CLAMP WITH 2" BLOW OFF VALVE AND ASSEMBLY BOX, COMPLETE IN PLACE	EA	1	\$2,269.00	\$2,269.00	\$1,084.00	\$1,084.00	\$1,980.00	\$1,980.00
17	8° PLUG AND CLAMP WITH 2° BLOW OFF VALVE AND ASSEMBLY BOX, COMPLETE IN PLACE	EA	2	\$2,232.00	\$4,464.00	\$884.00	\$1,768.00	\$1,760.00	\$3,520.00
18	6° PLUG AND CLAMP WITH 2" BLOW OFF VALVE AND ASSEMBLY BOX, COMPLETE IN PLACE	EA	1	\$2,160.00	\$2,160.00	\$784.00	\$784.00	\$1,775.00	\$1,775.00
19	2" BLOW OFF VALVE & BOX, COMPLETE IN PLACE	EA	1	\$100.00	\$100.00	\$584.00	\$584.00	\$1,485.00	\$1,485.00
20	1" SCHEDULE 40 PVC WATER LINE, ALL DEPTHS, INCLUDING FITTINGS, EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	260	\$15,00	\$3,900.00	\$15.15	\$3,939.00	\$20.00	\$5,200.00
21	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	8067	\$1.00	\$8,067.00	\$1.00	\$8,067.00	\$1.05	\$8,470.35
22	DEWATERING OF WATER LINE WORK (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	200	\$22.00	\$4,400.00	\$22.00	\$4,400.00	\$22.00	\$4,400.00
23	HAUL, PLACE, AND COMPACT WATER LINE UTILITY SPOIL, ON LOTS (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$2,497.00	\$2,497.00	\$3,000.00	\$3,000.00	\$5,400.00	\$5,400.00
24	EXTRA CAST IRON FITTINGS (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	TON	1	\$1.00	\$1.00	\$100.00	\$100.00	\$2,000.00	\$2,000.00
SEC	TION 1 PART B WATER ITEMS SUBTOTAL:				\$764,954.00		\$755,769.10		\$775,607.85
SEC	TION 1 PART B SANITARY SEWER ITEMS								
1	8" PVC SEWER PIPE, STM D-3034, SDR 26, 0'-8' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	3226	\$45.00	\$145,170.00	\$47.50	\$153,235.00	\$34.50	\$111,297.00
2	8" PVC SEWER PIPE, STM D-3034, SDR 26, 8'-12' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	2502	\$48.00	\$120,096.00	\$48.00	\$120,096.00	\$38.25	\$95,701.50
3	$8"$ PVC SEWER PIPE, STM D-3034, SDR 26, $16^{\circ}\text{-}20^{\circ}$ CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	698	\$50.00	\$34,900.00	\$55.85	\$38,983.30	\$49.00	\$34,202.00
4	SANITARY SEWER FORCE MAIN PLUG AND CLAMP, (ALL SIZES), ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$663.00	\$663.00	\$700.00	\$700.00	\$500.00	\$500.00
5	6" AWWA C900, FORCE MAIN, DR 18, ALL DEPTHS, INCLUDING FITTINGS, EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	4287	\$35.00	\$150,045.00	\$30.45	\$130,539.15	\$27.00	\$115,749.00

 Page 6 of 28
 FRN F-1386

 LJA Engineering, Inc.
 L/A Engineering of the company o

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

COMPLETE IN PLACE

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218
MONTGOMERY COUNTY, TEXAS
SEPTEMBER 12, 2024
LJA ENGINEERING, INC.
S. YOUNG
SEPTEMBER 12, 2024
0386-5861D (9.2)

				1) TEXASITI	E, LLC	2) DIMAS BROS. CO	ONSTRUCTION	3) CROSTEX CONS	TRUCTION INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	VC CASING FOR 8" SANITARY SEWER, INCLUDES SPACERS AND END SEALS, OMPLETE IN PLACE	LF	176	\$126.00	\$22,176.00	\$45.00	\$7,920.00	\$85.00	\$14,960.00
Р	RY AUGER AND STEEL CASING FOR 8" SANITARY SEWER, (EXCLUDES CARRIER IPE), INCLUDES RESTRAINED JOINT PIPE AND BORE PITS, ALL DEPTHS, OMPLETE IN PLACE	LF	52	\$130.00	\$6,760.00	\$275.00	\$14,300.00	\$235.00	\$12,220.00
Р	RY AUGER AND STEEL CASING FOR 6" PVC FORCE MAIN, (EXCLUDES CARRIER IPE), INCLUDES RESTRAINED JOINT PIPE AND BORE PITS, ALL DEPTHS, OMPLETE IN PLACE	LF	52	\$102.00	\$5,304.00	\$250.00	\$13,000.00	\$190.00	\$9,880.00
	TANDARD SANITARY SEWER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (8' EPTH), COMPLETE IN PLACE	EA	45	\$2,895.00	\$130,275.00	\$3,240.00	\$145,800.00	\$3,000.00	\$135,000.00
	XTRA VERTICAL DEPTH OF STANDARD SANITARY SEWER MANHOLE, (OVER 8' EPTH), COMPLETE IN PLACE	VF	59	\$188.00	\$11,092.00	\$140.00	\$8,260.00	\$300.00	\$17,700.00
	TANDARD 2' SANITARY SEWER DROP STRUCTURE, (FOR 6" DIAMETER SERVICE EADS), COMPLETE IN PLACE	EA	14	\$625.00	\$8,750.00	\$684.00	\$9,576.00	\$400.00	\$5,600.00
	XTRA VERTICAL DROP (OVER 2') FOR SANITARY SEWER INTERNAL DROP TRUCTURE (FOR 6" DIAMETER SERVICE LEADS), COMPLETE IN PLACE	VF	60	\$34.00	\$2,040.00	\$10.00	\$600.00	\$40.00	\$2,400.00
13 S	TANDARD 2' SANITARY SEWER DROP STRUCTURE, COMPLETE IN PLACE	EA	3	\$650.00	\$1,950.00	\$784.00	\$2,352.00	\$500.00	\$1,500.00
	XTRA VERTICAL DEPTH (OVER 2') FOR SANITARY SEWER DROP STRUCTURE, OMPLETE IN PLACE	VF	14	\$34.00	\$476.00	\$15.00	\$210.00	\$50.00	\$700.00
S	ONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, DR 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED BACKFILL, TRENCH AFETY, RISER, WYE, STACKS, PLUG, MARKER AND ANY NECESSARY FITTINGS, TC., COMPLETE IN PLACE	EA	38	\$2,377.00	\$90,326.00	\$3,300.00	\$125,400.00	\$2,550.00	\$96,900.00
S	SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, DR 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED BACKFILL, TRENCH AFETY, RISER, WYE, STACKS, .PLUG, MARKER AND ANY NECESSARY FITTINGS, TC., COMPLETE IN PLACE	EA	59	\$1,055.00	\$62,245.00	\$1,025.00	\$60,475.00	\$1,150.00	\$67,850.00
17 S	TANDARD 6" SANITARY SEWER STACK, COMPLETE IN PLACE	EA	28	\$249.00	\$6,972.00	\$284.00	\$7,952.00	\$300.00	\$8,400.00
	XTRA VERTICAL DEPTH ON SANITARY SEWER STACK (OVER 1.5' DEPTH), OMPLETE IN PLACE	VF	51	\$34.00	\$1,734.00	\$10.00	\$510.00	\$30.00	\$1,530.00
19 8'	SANITARY SEWER PLUG, COMPLETE IN PLACE	EA	3	\$437.00	\$1,311.00	\$184.00	\$552.00	\$100.00	\$300.00
	EMOVE AND DISPOSE OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" ANITARY SEWER	EA	1	\$664.00	\$664.00	\$184.00	\$184.00	\$1,000.00	\$1,000.00
21 TI	RENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	10713	\$1.00	\$10,713.00	\$1.00	\$10,713.00	\$4.50	\$48,208.50
	EWATERING OF 8" SANITARY SEWER LINE WORK, (TO BE USED ONLY AS IRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$22.00	\$2,200.00	\$22.00	\$2,200.00	\$30.00	\$3,000.00
U	DDITIONAL COST OF SANITARY SEWER BEDDING AND BACKFILL FOR NSATISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE NGINEER), COMPLETE IN PLACE	LF	100	\$8.00	\$800.00	\$8.00	\$800.00	\$8.00	\$800.00
F	AUL, PLACE AND COMPACT SANITARY SEWER UTILITY SPOIL ON DESIGNATED ILL AREAS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN LACE	LS	1	\$13,393.00	\$13,393.00	\$5,200.00	\$5,200.00	\$11,000.00	\$11,000.00
25 C	ONTRACTOR SHALL TV AND CLEAN PROPOSED SANITARY SEWER (ALL SIZES) ,	LF	10713	\$0.05	\$535.65	\$3.25	\$34,817.25	\$0.10	\$1,071.30

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218
MONTGOMERY COUNTY, TEXAS
SEPTEMBER 12, 2024
LJA ENGINEERING, INC.
S. YOUNG
SEPTEMBER 12, 2024

2) DIMAS BROS. CONSTRUCTION

3) CROSTEX CONSTRUCTION INC.

1) TEXASITE, LLC

				1) IEXASIII	E, LLC	2) DIMAS BROS. CO	NSTRUCTION	3) CROSTEX CONST	RUCTION INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	E 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER, INCLUDES CESSARY ADAPTERS, CONNECTORS OR FITTINGS, COMPLETE IN PLACE	EA	1	\$663.00	\$663.00	\$184.00	\$184.00	\$1,000.00	\$1,000.00
SECTION 1 PA	RT B SANITARY SEWER ITEMS SUBTOTAL:				\$831,253.65		\$894,558.70		\$798,469.30
SECTION 1 PA	RT B DRAINAGE FACILITIES ITEMS								
SEWER BACKFII	HPERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM , ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND LL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF , FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	497	\$53.00	\$26,341.00	\$58.40	\$29,024.80	\$54.00	\$26,838.00
SEWER BACKFII	HPERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM , ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND LL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF , FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	2765	\$67.00	\$185,255.00	\$72.00	\$199,080.00	\$70.00	\$193,550.00
SEWER BACKFII	HPERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM , ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND LL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF , FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	600	\$85.00	\$51,000.00	\$81.30	\$48,780.00	\$94.00	\$56,400.00
SEWER BACKFII	HPERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM , ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND LL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF , FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	673	\$105.00	\$70,665.00	\$97.75	\$65,785.75	\$113.00	\$76,049.00
SEWER BACKFII	I PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM , ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND LL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF , FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	276	\$130.00	\$35,880.00	\$123.25	\$34,017.00	\$133.00	\$36,708.00
SEWER BACKFII	I PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM , ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND LL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF , FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	499	\$150.00	\$74,850.00	\$136.35	\$68,038.65	\$170.00	\$84,830.00
SEWER BACKFII	HPERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM , ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND LL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF , FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	144	\$204.00	\$29,376.00	\$185.60	\$26,726.40	\$226.00	\$32,544.00
SEWER BACKFII	H PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND LL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	210	\$210.00	\$44,100.00	\$218.00	\$45,780.00	\$226.00	\$47,460.00
	STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND LL, ALL DEPTHS, COMPLETE IN PLACE	LF	142	\$150.00	\$21,300.00	\$147.50	\$20,945.00	\$138.00	\$19,596.00
	STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND LL, ALL DEPTHS, COMPLETE IN PLACE	LF	50	\$490.00	\$24,500.00	\$363.00	\$18,150.00	\$365.00	\$18,250.00
	ND JACK, OR TUNNEL FOR 60" RCP, (EXCLUDES LINE PIPE), INCLUDES ITS, ALL DEPTHS, COMPLETE IN PLACE	LF	50	\$1,000.00	\$50,000.00	\$805.00	\$40,250.00	\$575.00	\$28,750.00
	I - STANDARD (TYPE "C") INLET, ALL DEPTHS, INCLUDES TEMPORARY RRIER FENCE FOR STAGE I INLETS, COMPLETE IN PLACE	EA	37	\$1,816.00	\$67,192.00	\$1,135.00	\$41,995.00	\$3,000.00	\$111,000.00
13 STAGE	II - STANDARD (TYPE "C") INLET, COMPLETE IN PLACE	EA	37	\$1,816.00	\$67,192.00	\$1,655.00	\$61,235.00	\$700.00	\$25,900.00
	" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, ETE IN PLACE	EA	24	\$3,745.00	\$89,880.00	\$3,333.00	\$79,992.00	\$3,600.00	\$86,400.00

0386-5861D (9.2)

Page 8 of 28 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024 0386-5861D (9.2)

ESA SOB NO.			0300-300 ID (9.2)					
			1) TEXAS		2) DIMAS BROS. C		3) CROSTEX CONS	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
15 TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS COMPLETE IN PLACE	s, EA	8	\$6,243.00	\$49,944.00	\$8,300.00	\$66,400.00	\$10,000.00	\$80,000.00
16 BORE AND JACK 36" RCP STM. UNDER EXISTING UTILITIES AND STREET NOT INCLUDE PIPE, COMPLETE IN PLACE	Γ, DOES LF	52	\$659.00	\$34,268.00	\$550.00	\$28,600.00	\$400.00	\$20,800.00
17 REMOVE AND DISPOSE 8" BRICK WALL PLUG AND CONNECT PROPOSE ALL SIZES, COMPLETE IN PLACE	D PIPE, EA	2	\$663.00	\$1,326.00	\$184.00	\$368.00	\$750.00	\$1,500.00
18 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	5927	\$1.00	\$5,927.00	\$1.00	\$5,927.00	\$1.05	\$6,223.35
19 EXTREME EVENT OVERFLOW SWALE, COMPLETE IN PLACE	LS	1	\$1,021.00	\$1,021.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00
20 DEWATERING OF STORM SEWER LINE WORK, (TO BE USED ONLY AS D BY THE ENGINEER), COMPLETE IN PLACE	IRECTED LF	500	\$22.00	\$11,000.00	\$22.00	\$11,000.00	\$22.00	\$11,000.00
21 ADDITIONAL COST FOR STORM SEWER BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED ENGINEER), COMPLETE IN PLACE	LF) BY THE	500	\$8.00	\$4,000.00	\$8.00	\$4,000.00	\$8.00	\$4,000.00
22 HAUL, PLACE, AND COMPACT STORM SEWER UTILITY SPOIL ON LOTS, USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	(TO BE LS	1	\$14,528.00	\$14,528.00	\$13,874.70	\$13,874.70	\$15,000.00	\$15,000.00
SECTION 1 PART B DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$959,545.00		\$913,469.30		\$987,798.35
SECTION 1 PART B MISCELLANEOUS ITEMS								
1 REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), (TO BE UNILY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	JSED LF	19455	\$0.25	\$4,863.75	\$0.25	\$4,863.75	\$0.01	\$194.55
2 CONSTRUCT AND MAINTAIN STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
3 EXTRA CEMENT STABILIZED SAND, COMPLETE IN PLACE	CY	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$25.00	\$2,500.00
4 HYDROMULCH SEEDING AND FINE GRADING, (TO BE USED ONLY AS DIF BY THE ENGINEER), COMPLETE IN PLACE	RECTED AC	3	\$1,000.00	\$3,000.00	\$1,000.00	\$3,000.00	\$1,000.00	\$3,000.00
5 BROADCAST SEEDING, FERTILIZING AND WATERING (TO BE USED ONL' DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	YAS AC	47	\$600.00	\$28,200.00	\$600.00	\$28,200.00	\$600.00	\$28,200.00
6 STORMWATER POLLUTION PREVENTION PLAN COMPLIANCE, COMPLETE IN PLACE	LS	1	\$1,362.00	\$1,362.00	\$600.00	\$600.00	\$750.00	\$750.00
7 CONSTRUCT, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT. OIN PLACE	COMPLETE EA	1	\$50.00	\$50.00	\$500.00	\$500.00	\$750.00	\$750.00
8 CONSTRUCT, MAINTAIN CONSTRUCTION ENTRANCE, COMPLETE IN PLA	ACE EA	1	\$11.00	\$11.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00
9 PIPELINE CROSSING PER KINDER MORGAN REQUIREMENTS, AIR BRIDG COMPLETE IN PLACE	GE, EA	7	\$500.00	\$3,500.00	\$2,000.00	\$14,000.00	\$7,500.00	\$52,500.00
10 INLET PROTECTION BARRIER FOR STAGE II INLETS (GRAVEL BAGS), CC IN PLACE	OMPLETE EA	37	\$11.00	\$407.00	\$10.00	\$370.00	\$40.00	\$1,480.00
11 SELECT CLEARING AND GRUBBING, INCLUDES REMOVING ALL STUMPS ROOTS, CHIPPING OF CLEARING DEBRIS, AND HAULING OF DEBRIS OFF (ONLY AREAS AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE		2	\$17,025.00	\$34,050.00	\$3,000.00	\$6,000.00	\$5,000.00	\$10,000.00
SECTION 1 PART B MISCELLANEOUS ITEMS SUBTOTAL:				\$78,943.75		\$61,533.75		\$102,374.55

 Page 9 of 28
 FRN F-1386

 LJA Engineering, Inc.
 LJA Engineering (Inc.)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024 0386-5861D (9.2)

				1) TEXASITE, LLC		2) DIMAS BROS. CONSTRUCTION		3) CROSTEX CONSTRUCTION INC.	
ITEM D	ESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
BIDDING SUMMARY								,	
SUBTOTAL SECTION 1 PART A WATER ITE	MS				\$387,725.00		\$392,616.45		\$400,820.35
SUBTOTAL SECTION 1 PART A SANITARY	SEWER ITEMS				\$447,305.35		\$468,491.75		\$432,204.20
SUBTOTAL SECTION 1 PART A DRAINAGE	FACILITIES ITEMS				\$275,677.00		\$267,166.20		\$271,042.85
SUBTOTAL SECTION 1 PART A MISCELLAN	IEOUS ITEMS				\$27,471.75		\$27,494.75		\$26,682.55
SUBTOTAL SECTION 1 PART B WATER ITE	MS				\$764,954.00		\$755,769.10		\$775,607.85
SUBTOTAL SECTION 1 PART B SANITARY	SEWER ITEMS				\$831,253.65		\$894,558.70		\$798,469.30
SUBTOTAL SECTION 1 PART B DRAINAGE	FACILITIES ITEMS				\$959,545.00		\$913,469.30		\$987,798.35
SUBTOTAL SECTION 1 PART B MISCELLAN	IEOUS ITEMS				\$78,943.75		\$61,533.75		\$102,374.55
TOTAL AMOUNT BASE BID					\$3,772,875.50		\$3,781,100.00		\$3,795,000.00

FRN F-1386 Page 10 of 28



BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024

20,002,00		4) PI	LAZEY CONSTRUCT	ION SEDVICES I.I.C	5) KENNETH LAMB CONS	TRUCTION CO. LTD.	6) PRINCIPAL SE	DVICES LTD
ITEM DESCRIPTION	UNIT	,	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SECTION 1 PART A WATER ITEMS	OIVIII	QII	01411 0001	101AL 0001	ONIT COOT	TOTAL COST	UNIT COOT	TOTAL COOT
1 12" PVC WATER PIPE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING, ALL NECESSARY BENDS, FITTINGS, AND RETRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	2419	\$64.00	\$154,816.00	\$75.00	\$181,425.00	\$67.00	\$162,073.00
2 12" PVC WATER PIPE, C-900, DR 14, ALL DEPTHS, TO INCLUDE BEDDING, ALL NECESSARY BENDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	200	\$114.00	\$22,800.00	\$114.00	\$22,800.00	\$127.00	\$25,400.00
3 STEEL CASING FOR 12" WATER LINE, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	200	\$83.00	\$16,600.00	\$130.00	\$26,000.00	\$80.00	\$16,000.00
4 PVC CASING FOR 12" WATER LINE AT ALL PAVEMENT CROSSINGS, INCLUDES CEMENT STABILIZED SAND, COMPLETE IN PLACE	LF	30	\$94.00	\$2,820.00	\$108.00	\$3,240.00	\$93.00	\$2,790.00
5 6" PVC WATER PIPE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING, ALL NECESSARY BENDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	863	\$25.00	\$21,575.00	\$37.00	\$31,931.00	\$27.00	\$23,301.00
6 PVC CASING FOR 6" WATER LINE AT ALL PAVEMENT CROSSINGS, INCLUDES CEMENT STABILIZED SAND, COMPLETE IN PLACE	LF	60	\$97.00	\$5,820.00	\$82.00	\$4,920.00	\$76.00	\$4,560.00
7 FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE AND BOX, 6" LEAD AND FIRE HYDRANT, COMPLETE IN PLACE	EA	8	\$5,617.00	\$44,936.00	\$6,506.00	\$52,048.00	\$5,830.00	\$46,640.00
8 NEAR SIDE, DOUBLE OR SINGLE SERVICE, 1" (CTS POLYETHYLENE, SDR-9), WATER SERVICE INCLUDES TRENCH SAFETY, METER BOX, CURB STOP, AND ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	15	\$876.00	\$13,140.00	\$1,071.00	\$16,065.00	\$964.00	\$14,460.00
9 FAR SIDE, DOUBLE OR SINGLE SERVICE, 1" (CTS POLYETHYLENE, SDR-9), WATER SERVICE INCLUDES METER BOX, CURB STOP, TRENCH SAFETY AND ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	13	\$1,013.00	\$13,169.00	\$1,853.00	\$24,089.00	\$1,573.00	\$20,449.00
10 12" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	4	\$3,424.00	\$13,696.00	\$3,742.00	\$14,968.00	\$3,596.00	\$14,384.00
11 6" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	2	\$1,203.00	\$2,406.00	\$1,421.00	\$2,842.00	\$1,274.00	\$2,548.00
12 DRY AUGER AND STEEL CASING FOR 12" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, SPACERS AND END SEALS, ALL DEPTHS, COMPLETE IN PLACE	LF	200	\$370.00	\$74,000.00	\$66.00	\$13,200.00	\$260.00	\$52,000.00
13 12" X 6" T.S. & V., COMPLETE IN PLACE	EA	1	\$4,106.00	\$4,106.00	\$4,001.00	\$4,001.00	\$5,409.00	\$5,409.00
14 12" PLUG AND CLAMP WITH 2" BLOW OFF VALVE AND ASSEMBLY BOX, COMPLETE IN PLACE	EA	1	\$2,030.00	\$2,030.00	\$2,137.00	\$2,137.00	\$1,156.00	\$1,156.00
15 6" PLUG AND CLAMP WITH 2" BLOW OFF VALVE AND ASSEMBLY BOX, COMPLETE IN PLACE	EA	2	\$1,748.00	\$3,496.00	\$1,717.00	\$3,434.00	\$1,790.00	\$3,580.00
16 1" SCHEDULE 40 PVC WATER LINE, ALL DEPTHS, INCLUDING FITTINGS, EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	60	\$18.00	\$1,080.00	\$16.00	\$960.00	\$22.00	\$1,320.00
 17 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE 18 DEWATERING OF WATER LINE WORK (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE 	LF LF	3282 600	\$0.30 \$22.00	\$984.60 \$13,200.00	\$2.00 \$22.00	\$6,564.00 \$13,200.00	\$0.10 \$22.00	\$328.20 \$13,200.00
19 HAUL, PLACE, AND COMPACT WATER LINE UTILITY SPOIL, ON LOTS (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$4,367.00	\$4,367.00	\$1,704.00	\$1,704.00	\$1,000.00	\$1,000.00
20 EXTRA CAST IRON FITTINGS (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	TON	1	\$2,204.00	\$2,204.00	\$1.00	\$1.00	\$100.00	\$100.00
SECTION 1 PART A WATER ITEMS SUBTOTAL:				\$417,245.60		\$425,529.00		\$410,698.20

0386-5861D (9.2)

FRN F-1386 Page 11 of 28 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024

			4) BLAZEY CONSTRUCT	TION SERVICES LLC	ICES LLC 5) KENNETH LAMB CONSTRUCTION CO.,LTD.		6) PRINCIPAL SE	ERVICES, LTD
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SECTION 1 PART A SANITARY S	SEWER ITEMS								
	D-3034, SDR 26, 0'-8' CUT (TO BE USED ONLY AS EER), COMPLETE IN PLACE	LF	231	\$43.00	\$9,933.00	\$44.00	\$10,164.00	\$60.00	\$13,860.00
	D-3034, SDR 26, 8'-12' CUT (TO BE USED ONLY AS EER), COMPLETE IN PLACE	LF	1085	\$46.00	\$49,910.00	\$47.00	\$50,995.00	\$65.00	\$70,525.00
	D-3034, SDR 26, 12'-16' CUT (TO BE USED ONLY AS EER), COMPLETE IN PLACE	LF	199	\$53.00	\$10,547.00	\$50.00	\$9,950.00	\$70.00	\$13,930.00
	D-3034, SDR 26, 16'-20' CUT (TO BE USED ONLY AS EER), COMPLETE IN PLACE	LF	861	\$72.00	\$61,992.00	\$57.00	\$49,077.00	\$75.00	\$64,575.00
	D-3034, SDR 26, 20'-24' CUT (TO BE USED ONLY AS EER), COMPLETE IN PLACE	LF	559	\$101.00	\$56,459.00	\$77.00	\$43,043.00	\$102.00	\$57,018.00
6 SANITARY SEWER FORCE COMPLETE IN PLACE	E MAIN PLUG AND CLAMP, (ALL SIZES), ALL DEPTHS,	EA	1	\$492.00	\$492.00	\$579.00	\$579.00	\$447.00	\$447.00
7 6" PVC FORCE MAIN, C-90 AND BACKFILL, ALL DEPT	0, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING HS, COMPLETE IN PLACE	LF	397	\$36.00	\$14,292.00	\$40.00	\$15,880.00	\$36.00	\$14,292.00
8 PVC CASING FOR 8" SANI' COMPLETE IN PLACE	TARY SEWER, INCLUDES SPACERS AND END SEALS,	LF	140	\$68.00	\$9,520.00	\$83.00	\$11,620.00	\$65.00	\$9,100.00
	CASING FOR 8" SANITARY SEWER, (EXCLUDES CARRIER INED JOINT PIPE AND BORE PITS, ALL DEPTHS,	LF	150	\$384,00	\$57,600.00	\$137.00	\$20,550.00	\$100.00	\$15,000.00
	CASING FOR 6" PVC FORCE MAIN, (EXCLUDES CARRIER INED JOINT PIPE AND BORE PITS, ALL DEPTHS,	LF	150	\$374.00	\$56,100.00	\$113.00	\$16,950.00	\$100.00	\$15,000.00
11 STANDARD SANITARY SE DEPTH), COMPLETE IN PL	WER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (8' ACE	EA	19	\$3,118.00	\$59,242.00	\$3,531.00	\$67,089.00	\$25,000.00	\$475,000.00
12 EXTRA VERTICAL DEPTH DEPTH), COMPLETE IN PL	OF STANDARD SANITARY SEWER MANHOLE, (OVER 8' ACE	VF	111	\$176.00	\$19,536.00	\$220.00	\$24,420.00	\$300.00	\$33,300.00
13 STANDARD 2' SANITARY S LEADS), COMPLETE IN PL	SEWER DROP STRUCTURE, (FOR 6" DIAMETER SERVICE ACE	EA	2	\$650.00	\$1,300.00	\$716.00	\$1,432.00	\$585.00	\$1,170.00
	OVER 2') FOR SANITARY SEWER INTERNAL DROP METER SERVICE LEADS), COMPLETE IN PLACE	VF	14	\$30.00	\$420.00	\$70.00	\$980.00	\$42.00	\$588.00
15 STANDARD 2' SANITARY S	SEWER DROP STRUCTURE, COMPLETE IN PLACE	EA	5	\$773.00	\$3,865.00	\$919.00	\$4,595.00	\$714.00	\$3,570.00
16 EXTRA VERTICAL DEPTH COMPLETE IN PLACE	(OVER 2') FOR SANITARY SEWER DROP STRUCTURE,	VF	39	\$35.00	\$1,365.00	\$70.00	\$2,730.00	\$48.00	\$1,872.00
SDR 26, ALL DEPTHS, INC	SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, LUDING CEMENT STABILIZED BACKFILL, TRENCH ACKS, PLUG, MARKER AND ANY NECESSARY FITTINGS, E	EA	16	\$3,093.00	\$49,488.00	\$2,742.00	\$43,872.00	\$2,230.00	\$35,680.00
SDR 26, ALL DEPTHS, INC	R SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, LUDING CEMENT STABILIZED BACKFILL, TRENCH ACKS, .PLUG, MARKER AND ANY NECESSARY FITTINGS, E	EA	15	\$1,330.00	\$19,950.00	\$1,008.00	\$15,120.00	\$1,396.00	\$20,940.00
19 STANDARD 6" SANITARY	SEWER STACK, COMPLETE IN PLACE	EA	2	\$451.00	\$902.00	\$544.00	\$1,088.00	\$478.00	\$956.00

0386-5861D (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218
MONTGOMERY COUNTY, TEXAS
SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024

4) BLAZEY CONSTRUCTION SERVICES LLC 5) KENNETH LAMB CONSTRUCTION CO.,LTD.

			4)	BLAZEY CONSTRUC	I ION SERVICES LLC	5) KENNETH LAMB CON	STRUCTION CO.,LTD.	6) PRINCIPAL SE	RVICES, LTD
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	EXTRA VERTICAL DEPTH ON SANITARY SEWER STACK (OVER 1.5' DEPTH), COMPLETE IN PLACE	VF	22	\$13.00	\$286.00	\$60.00	\$1,320.00	\$42.00	\$924.00
21 8	3" SANITARY SEWER PLUG, COMPLETE IN PLACE	EA	1	\$132.00	\$132.00	\$216.00	\$216.00	\$73.00	\$73.00
	REMOVE AND DISPOSE OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER	EA	1	\$763.00	\$763.00	\$300.00	\$300.00	\$122.00	\$122.00
23	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	3147	\$0.30	\$944.10	\$2.00	\$6,294.00	\$0.10	\$314.70
	DEWATERING OF 8" SANITARY SEWER LINE WORK, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$22.00	\$22,000.00	\$22.00	\$22,000.00	\$22.00	\$22,000.00
	ADDITIONAL COST OF SANITARY SEWER BEDDING AND BACKFILL FOR JNSATISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$15.00	\$15,000.00	\$8.00	\$8,000.00	\$8.00	\$8,000.00
1	HAUL, PLACE AND COMPACT SANITARY SEWER UTILITY SPOIL ON DESIGNATED FILL AREAS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$7,122.00	\$7,122.00	\$2,055.00	\$2,055.00	\$1,000.00	\$1,000.00
	CONTRACTOR SHALL TV AND CLEAN PROPOSED SANITARY SEWER (ALL SIZES) , COMPLETE IN PLACE	LF	3147	\$2.40	\$7,552.80	\$2.25	\$7,080.75	\$0.10	\$314.70
SECTION	ON 1 PART A SANITARY SEWER ITEMS SUBTOTAL:				\$536,712.90		\$437,399.75		\$879,571.40
SECTI	ON 1 PART A DRAINAGE FACILITIES ITEMS								
	18" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	328	\$63.00	\$20,664.00	\$63.00	\$20,664.00	\$70.00	\$22,960.00
	24" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	250	\$77.00	\$19,250.00	\$94.00	\$23,500.00	\$88.00	\$22,000.00
	30" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	675	\$95.00	\$64,125.00	\$105.00	\$70,875.00	\$107.00	\$72,225.00
	86" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	373	\$130.00	\$48,490.00	\$150.00	\$55,950.00	\$158.00	\$58,934.00
	STAGE 1- STANDARD (TYPE "C") INLET, ALL DEPTHS, INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE I INLETS, COMPLETE IN PLACE	EA	15	\$1,588.00	\$23,820.00	\$1,451.00	\$21,765.00	\$1,372.00	\$20,580.00
6	STAGE II - STANDARD (TYPE "C") INLET, COMPLETE IN PLACE	EA	15	\$1,595.00	\$23,925.00	\$2,311.00	\$34,665.00	\$1,882.00	\$28,230.00
	TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$3,398.00	\$20,388.00	\$3,401.00	\$20,406.00	\$2,841.00	\$17,046.00
8 (3:1 SAFETY END TREATMENT FOR 24" CULVERT, COMPLETE IN PLACE	EA	2	\$1,460.00	\$2,920.00	\$2,426.00	\$4,852.00	\$2,591.00	\$5,182.00
9	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	1477	\$0.30	\$443.10	\$2.00	\$2,954.00	\$0.10	\$147.70
	DEWATERING OF STORM SEWER LINE WORK, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$22.00	\$11,000.00	\$22.00	\$11,000.00	\$22.00	\$11,000.00
	ADDITIONAL COST FOR STORM SEWER BEDDING AND BACKFILL FOR JNSATISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$15.00	\$7,500.00	\$8.00	\$4,000.00	\$8.00	\$4,000.00
	HAUL, PLACE, AND COMPACT STORM SEWER UTILITY SPOIL ON LOTS, (TO BE JSED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$4,367.00	\$4,367.00	\$1,700.00	\$1,700.00	\$1,000.00	\$1,000.00
13	5" CONCRETE SLOPE PAVING, COMPLETE IN PLACE	SY	6	\$132.00	\$792.00	\$165.00	\$990.00	\$112.00	\$672.00

0386-5861D (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024

			4) BLAZEY CONSTRUC	TION SERVICES LLC	5) KENNETH LAMB CON	STRUCTION CO.,LTD.	6) PRINCIPAL SE	RVICES, LTD
ITEM DESC	CRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
14 DRAINAGE SWALES, "V" BOTTOM, 3:1 S	SIDE SLOPES, COMPLETE IN PLACE	LF	455	\$4.00	\$1,820.00	\$10.00	\$4,550.00	\$2.00	\$910.00
15 18" RIP-RAP, AS DIRECTED BY THE ENG	GINEER, COMPLETE IN PLACE	SY	14	\$119.00	\$1,666.00	\$110.00	\$1,540.00	\$111.00	\$1,554.00
SECTION 1 PART A DRAINAGE FACILITIES ITE	MS SUBTOTAL:				\$251,170.10		\$279,411.00		\$266,440.70
SECTION 1 PART A MISCELLANEOUS ITEMS									
1 REINFORCED FILTER FABRIC FENCE (S ONLY AS DIRECTED BY THE ENGINEER		LF	6779	\$2.40	\$16,269.60	\$1.60	\$10,846.40	\$0.10	\$677.90
2 CONSTRUCT AND MAINTAIN STABILIZE COMPLETE IN PLACE	D CONSTRUCTION EXIT,	EA	1	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
3 EXTRA CEMENT STABILIZED SAND, CO	MPLETE IN PLACE	CY	50	\$30.00	\$1,500.00	\$20.00	\$1,000.00	\$20.00	\$1,000.00
4 HYDROMULCH SEEDING AND FINE GRA BY THE ENGINEER), COMPLETE IN PLA		AC	1.3	\$1,500.00	\$1,950.00	\$1,000.00	\$1,300.00	\$1,000.00	\$1,300.00
5 BROADCAST SEEDING, FERTILIZING AN DIRECTED BY THE ENGINEER), COMPL		AC	34	\$800.00	\$27,200.00	\$600.00	\$20,400.00	\$600.00	\$20,400.00
6 STORMWATER POLLUTION PREVENTION COMPLETE IN PLACE	ON PLAN COMPLIANCE,	LS	1	\$1,515.00	\$1,515.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00
7 CONSTRUCT, MAINTAIN, AND REMOVE IN PLACE	CONCRETE TRUCK WASHOUT, COMPLETE	EA	1	\$579.00	\$579.00	\$150.00	\$150.00	\$100.00	\$100.00
8 INLET PROTECTION BARRIER FOR STA IN PLACE	GE II INLETS (GRAVEL BAGS), COMPLETE	EA	15	\$61.00	\$915.00	\$50.00	\$750.00	\$10.00	\$150.00
SECTION 1 PART A MISCELLANEOUS ITEMS S	SUBTOTAL:				\$51,728.60		\$37,446.40		\$25,627.90
SECTION 1 PART B WATER ITEMS									
1 12" PVC WATER PIPE, C-900, DR 18, ALI NECESSARY BENDS, FITTINGS, AND RE COMPLETE IN PLACE		LF	3650	\$64.00	\$233,600.00	\$73.00	\$266,450.00	\$68.00	\$248,200.00
2 STEEL CASING FOR 12" WATER LINE, II COMPLETE IN PLACE	NCLUDES SPACERS AND END SEALS,	LF	52	\$87.00	\$4,524.00	\$137.00	\$7,124.00	\$84.00	\$4,368.00
3 PVC CASING FOR 12" WATER LINE AT A CEMENT STABILIZED SAND, COMPLETE		LF	120	\$93.00	\$11,160.00	\$110.00	\$13,200.00	\$92.00	\$11,040.00
4 8" PVC WATER PIPE, C-900, DR 18, ALL NECESSARY BENDS, FITTINGS, AND RE COMPLETE IN PLACE		LF	4175	\$36.50	\$152,387.50	\$45.00	\$187,875.00	\$38.00	\$158,650.00
5 8" PVC WATER PIPE, C-900, DR 14, ALL NECESSARY BENDS, FITTINGS, AND RE COMPLETE IN PLACE		LF	150	\$47.00	\$7,050.00	\$62.00	\$9,300.00	\$57.00	\$8,550.00
6 STEEL CASING FOR 8" WATER LINE, IN COMPLETE IN PLACE	CLUDES SPACERS AND END SEALS,	LF	52	\$68.00	\$3,536.00	\$94.00	\$4,888.00	\$65.00	\$3,380.00
7 PVC CASING FOR 8" WATER LINE AT AL CEMENT STABILIZED SAND, COMPLETE		LF	160	\$68.00	\$10,880.00	\$76.00	\$12,160.00	\$65.00	\$10,400.00
8 6" PVC WATER PIPE, C-900, DR 18, ALL NECESSARY BENDS, FITTINGS, AND RE COMPLETE IN PLACE		LF	242	\$26.00	\$6,292.00	\$34.00	\$8,228.00	\$28.00	\$6,776.00
9 FIRE HYDRANT UNIT, ALL DEPTHS, INC AND BOX, 6" LEAD AND FIRE HYDRANT	LUDES APPROPRIATE TEE, 6" GATE VALVE , COMPLETE IN PLACE	EA	18	\$5,919.00	\$106,542.00	\$6,491.00	\$116,838.00	\$6,146.00	\$110,628.00

0386-5861D (9.2)

 Page 14 of 28
 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024

	4) BLAZEY CONSTRUCTION SERVI		ION SERVICES LLC	SERVICES LLC 5) KENNETH LAMB CONSTRUCTION CO.,LTD.			6) PRINCIPAL SERVICES, LTD	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
10 NEAR SIDE, DOUBLE OR SINGLE SERVICE, 1" (CTS POLYETHYLENE, SDR-9), WATER SERVICE INCLUDES TRENCH SAFETY, METER BOX, CURB STOP, AND AL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA L	42	\$824.00	\$34,608.00	\$901.00	\$37,842.00	\$910.00	\$38,220.00
11 FAR SIDE, DOUBLE OR SINGLE SERVICE, 1" (CTS POLYETHYLENE, SDR-9), WATER SERVICE INCLUDES METER BOX, CURB STOP, TRENCH SAFETY AND ALI NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA L	67	\$1,031.00	\$69,077.00	\$2,081.00	\$139,427.00	\$1,638.00	\$109,746.00
12 12" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	8	\$3,428.00	\$27,424.00	\$3,742.00	\$29,936.00	\$3,596.00	\$28,768.00
13 8" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	11	\$1,810.00	\$19,910.00	\$2,057.00	\$22,627.00	\$1,886.00	\$20,746.00
14 DRY AUGER AND STEEL CASING FOR 12" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, SPACERS AND END SEALS, ALL DEPTHS, COMPLETE IN PLACE	LF	52	\$492.00	\$25,584.00	\$194.00	\$10,088.00	\$100.00	\$5,200.00
15 DRY AUGER AND STEEL CASING FOR 8" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, SPACERS AND END SEALS, ALL DEPTHS, COMPLETE IN PLACE	LF	52	\$454.00	\$23,608.00	\$150.00	\$7,800.00	\$100.00	\$5,200.00
16 12" PLUG AND CLAMP WITH 2" BLOW OFF VALVE AND ASSEMBLY BOX, COMPLETE IN PLACE	EA	1	\$2,294.00	\$2,294.00	\$2,137.00	\$2,137.00	\$2,239.00	\$2,239.00
17 8" PLUG AND CLAMP WITH 2" BLOW OFF VALVE AND ASSEMBLY BOX, COMPLETI IN PLACE	E EA	2	\$2,069.00	\$4,138.00	\$1,870.00	\$3,740.00	\$1,922.00	\$3,844.00
18 6" PLUG AND CLAMP WITH 2" BLOW OFF VALVE AND ASSEMBLY BOX, COMPLETI IN PLACE	E EA	1	\$2,082.00	\$2,082.00	\$1,171.00	\$1,171.00	\$1,934.00	\$1,934.00
19 2" BLOW OFF VALVE & BOX, COMPLETE IN PLACE	EA	1	\$1,701.00	\$1,701.00	\$1,100.00	\$1,100.00	\$1,737.00	\$1,737.00
20 1" SCHEDULE 40 PVC WATER LINE, ALL DEPTHS, INCLUDING FITTINGS, EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	260	\$18.00	\$4,680.00	\$15.00	\$3,900.00	\$22.00	\$5,720.00
21 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	8067	\$0.30	\$2,420.10	\$2.00	\$16,134.00	\$0.10	\$806.70
22 DEWATERING OF WATER LINE WORK (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	200	\$22.00	\$4,400.00	\$22.00	\$4,400.00	\$22.00	\$4,400.00
23 HAUL, PLACE, AND COMPACT WATER LINE UTILITY SPOIL, ON LOTS (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$4,367.00	\$4,367.00	\$4,260.00	\$4,260.00	\$1,000.00	\$1,000.00
24 EXTRA CAST IRON FITTINGS (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	TON	1	\$2,204.00	\$2,204.00	\$1.00	\$1.00	\$100.00	\$100.00
SECTION 1 PART B WATER ITEMS SUBTOTAL:				\$764,468.60		\$910,626.00		\$791,652.70
SECTION 1 PART B SANITARY SEWER ITEMS								
1 8" PVC SEWER PIPE, STM D-3034, SDR 26, 0'-8' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	3226	\$41.50	\$133,879.00	\$39.00	\$125,814.00	\$39.00	\$125,814.00
2 8" PVC SEWER PIPE, STM D-3034, SDR 26, 8'-12' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	2502	\$44.60	\$111,589.20	\$42.00	\$105,084.00	\$42.00	\$105,084.00
3 8" PVC SEWER PIPE, STM D-3034, SDR 26, 16'-20' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	698	\$71.00	\$49,558.00	\$52.00	\$36,296.00	\$52.00	\$36,296.00
4 SANITARY SEWER FORCE MAIN PLUG AND CLAMP, (ALL SIZES), ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$492.00	\$492.00	\$579.00	\$579.00	\$447.00	\$447.00
5 6" AWWA C900, FORCE MAIN, DR 18, ALL DEPTHS, INCLUDING FITTINGS, EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	4287	\$28.50	\$122,179.50	\$37.00	\$158,619.00	\$29.00	\$124,323.00

0386-5861D (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

COMPLETE IN PLACE

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024

4) BLAZEY CONSTRUCTION SERVICES LLC 5) KENNETH LAMB CONSTRUCTION CO.,LTD.

			4	BLAZEY CONSTRUC	ION SERVICES LLC	5) KENNETH LAMB CONS	STRUCTION CO.,LTD.	6) PRINCIPAL SE	RVICES, LID
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	PVC CASING FOR 8" SANITARY SEWER, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	176	\$68.00	\$11,968.00	\$94.00	\$16,544.00	\$65.00	\$11,440.00
	DRY AUGER AND STEEL CASING FOR 8" SANITARY SEWER, (EXCLUDES CARRIER PIPE), INCLUDES RESTRAINED JOINT PIPE AND BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	52	\$528.00	\$27,456.00	\$178.00	\$9,256.00	\$100.00	\$5,200.00
	DRY AUGER AND STEEL CASING FOR 6" PVC FORCE MAIN, (EXCLUDES CARRIER PIPE), INCLUDES RESTRAINED JOINT PIPE AND BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	52	\$515.00	\$26,780.00	\$148.00	\$7,696.00	\$100.00	\$5,200.00
	STANDARD SANITARY SEWER MANHOLE FOR 6"-24" SANITARY SEWER PIPES, (8' DEPTH), COMPLETE IN PLACE	EA	45	\$3,057.00	\$137,565.00	\$4,053.00	\$182,385.00	\$7,000.00	\$315,000.00
	EXTRA VERTICAL DEPTH OF STANDARD SANITARY SEWER MANHOLE, (OVER 8' DEPTH), COMPLETE IN PLACE	VF	59	\$176.00	\$10,384.00	\$200.00	\$11,800.00	\$300.00	\$17,700.00
	STANDARD 2' SANITARY SEWER DROP STRUCTURE, (FOR 6" DIAMETER SERVICE LEADS), COMPLETE IN PLACE	EA	14	\$650.00	\$9,100.00	\$716.00	\$10,024.00	\$585.00	\$8,190.00
	EXTRA VERTICAL DROP (OVER 2') FOR SANITARY SEWER INTERNAL DROP STRUCTURE (FOR 6" DIAMETER SERVICE LEADS), COMPLETE IN PLACE	VF	60	\$30.00	\$1,800.00	\$70.00	\$4,200.00	\$42.00	\$2,520.00
13	STANDARD 2' SANITARY SEWER DROP STRUCTURE, COMPLETE IN PLACE	EA	3	\$773.00	\$2,319.00	\$919.00	\$2,757.00	\$713.00	\$2,139.00
	EXTRA VERTICAL DEPTH (OVER 2') FOR SANITARY SEWER DROP STRUCTURE, COMPLETE IN PLACE	VF	14	\$35.00	\$490.00	\$70.00	\$980.00	\$48.00	\$672.00
	"LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED BACKFILL, TRENCH SAFETY, RISER, WYE, STACKS, PLUG, MARKER AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	38	\$3,103.00	\$117,914.00	\$2,247.00	\$85,386.00	\$2,239.00	\$85,082.00
	"SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED BACKFILL, TRENCH SAFETY, RISER, WYE, STACKS, .PLUG, MARKER AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	59	\$1,277.00	\$75,343.00	\$997.00	\$58,823.00	\$1,342.00	\$79,178.00
17	STANDARD 6" SANITARY SEWER STACK, COMPLETE IN PLACE	EA	28	\$451.00	\$12,628.00	\$545.00	\$15,260.00	\$478.00	\$13,384.00
	EXTRA VERTICAL DEPTH ON SANITARY SEWER STACK (OVER 1.5' DEPTH), COMPLETE IN PLACE	VF	51	\$13.00	\$663.00	\$60.00	\$3,060.00	\$42.00	\$2,142.00
19	8" SANITARY SEWER PLUG, COMPLETE IN PLACE	EA	3	\$132.00	\$396.00	\$160.00	\$480.00	\$74.00	\$222.00
	REMOVE AND DISPOSE OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER	EA	1	\$763.00	\$763.00	\$300.00	\$300.00	\$122.00	\$122.00
21	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	10713	\$0.30	\$3,213.90	\$2.00	\$21,426.00	\$0.10	\$1,071.30
	DEWATERING OF 8" SANITARY SEWER LINE WORK, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$22.00	\$2,200.00	\$22.00	\$2,200.00	\$22.00	\$2,200.00
	ADDITIONAL COST OF SANITARY SEWER BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$15.00	\$1,500.00	\$8.00	\$800.00	\$8.00	\$800.00
	HAUL, PLACE AND COMPACT SANITARY SEWER UTILITY SPOIL ON DESIGNATED FILL AREAS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$7,122.00	\$7,122.00	\$5,745.00	\$5,745.00	\$1,000.00	\$1,000.00
25	CONTRACTOR SHALL TV AND CLEAN PROPOSED SANITARY SEWER (ALL SIZES),	LF	10713	\$2.40	\$25,711.20	\$3.00	\$32,139.00	\$0.10	\$1,071.30

0386-5861D (9.2)

 Page 16 of 28
 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024

4) BLAZEY CONSTRUCTION SERVICES LLC 5) KENNETH LAMB CONSTRUCTION CO.,LTD.

				4) BLAZEY CONSTRUC	TION SERVICES LLC	5) KENNETH LAMB CON	STRUCTION CO.,LTD.	6) PRINCIPAL SE	RVICES, LTD
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER, INCLUDES SESSARY ADAPTERS, CONNECTORS OR FITTINGS, COMPLETE IN PLACE	EA	1	\$763.00	\$763.00	\$300.00	\$300.00	\$122.00	\$122.00
SECTION 1 PAR	RT B SANITARY SEWER ITEMS SUBTOTAL:				\$893,776.80		\$897,953.00		\$946,419.60
SECTION 1 PAR	RT B DRAINAGE FACILITIES ITEMS								
SEWER, BACKFILI	PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND L AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	497	\$46.00	\$22,862.00	\$46.00	\$22,862.00	\$52.00	\$25,844.00
SEWER, BACKFILI	PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND L AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	2765	\$62.00	\$171,430.00	\$76.00	\$210,140.00	\$71.00	\$196,315.00
SEWER, BACKFILI	PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND L AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	600	\$82.00	\$49,200.00	\$91.00	\$54,600.00	\$93.00	\$55,800.00
SEWER, BACKFILI	PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND L AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	673	\$100.00	\$67,300.00	\$119.00	\$80,087.00	\$123.00	\$82,779.00
SEWER, BACKFILI	PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND L AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	276	\$122.00	\$33,672.00	\$148.00	\$40,848.00	\$146.00	\$40,296.00
SEWER, BACKFILI	PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND L AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	499	\$158.00	\$78,842.00	\$183.00	\$91,317.00	\$187.00	\$93,313.00
SEWER, BACKFILI	PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND L AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	144	\$209.00	\$30,096.00	\$261.00	\$37,584.00	\$264.00	\$38,016.00
SEWER, BACKFILI	PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND L AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	210	\$222.00	\$46,620.00	\$241.00	\$50,610.00	\$258.00	\$54,180.00
	STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND L, ALL DEPTHS, COMPLETE IN PLACE	LF	142	\$160.00	\$22,720.00	\$148.00	\$21,016.00	\$158.00	\$22,436.00
	STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND L, ALL DEPTHS, COMPLETE IN PLACE	LF	50	\$454.00	\$22,700.00	\$384.00	\$19,200.00	\$424.00	\$21,200.00
	ID JACK, OR TUNNEL FOR 60" RCP, (EXCLUDES LINE PIPE), INCLUDES TS, ALL DEPTHS, COMPLETE IN PLACE	LF	50	\$1,107.00	\$55,350.00	\$726.00	\$36,300.00	\$400.00	\$20,000.00
	- STANDARD (TYPE "C") INLET, ALL DEPTHS, INCLUDES TEMPORARY RIER FENCE FOR STAGE I INLETS, COMPLETE IN PLACE	EA	37	\$1,604.00	\$59,348.00	\$1,451.00	\$53,687.00	\$1,372.00	\$50,764.00
13 STAGE II	- STANDARD (TYPE "C") INLET, COMPLETE IN PLACE	EA	37	\$1,595.00	\$59,015.00	\$2,311.00	\$85,507.00	\$1,882.00	\$69,634.00
	MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, TE IN PLACE	EA	24	\$3,436.00	\$82,464.00	\$4,393.00	\$105,432.00	\$2,965.00	\$71,160.00

0386-5861D (9.2)

Page 17 of 28 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024

4) BLAZEY CONSTRUCTION SERVICES LLC 5) KENNETH LAMB CONSTRUCTION CO.,LTD.

			7) BLAZET CONSTRUC	TION SERVICES EEG	3) KENNETTI EAND CON	STRUCTION CO.,ETD.	0) I KINOII AL GE	INVIOLO, LID
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, ETE IN PLACE	EA	8	\$7,918.00	\$63,344.00	\$7,322.00	\$58,576.00	\$4,121.00	\$32,968.00
	AND JACK 36" RCP STM. UNDER EXISTING UTILITIES AND STREET, DOES CLUDE PIPE, COMPLETE IN PLACE	LF	52	\$798.00	\$41,496.00	\$461.00	\$23,972.00	\$346.00	\$17,992.00
	/E AND DISPOSE 8" BRICK WALL PLUG AND CONNECT PROPOSED PIPE, ZES, COMPLETE IN PLACE	EA	2	\$303.00	\$606.00	\$500.00	\$1,000.00	\$316.00	\$632.00
18 TRENC	H SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	5927	\$0.30	\$1,778.10	\$2.00	\$11,854.00	\$0.10	\$592.70
19 EXTRE	ME EVENT OVERFLOW SWALE, COMPLETE IN PLACE	LS	1	\$4,160.00	\$4,160.00	\$2,500.00	\$2,500.00	\$900.00	\$900.00
	TERING OF STORM SEWER LINE WORK, (TO BE USED ONLY AS DIRECTED ENGINEER), COMPLETE IN PLACE	LF	500	\$22.00	\$11,000.00	\$22.00	\$11,000.00	\$22.00	\$11,000.00
UNSAT	ONAL COST FOR STORM SEWER BEDDING AND BACKFILL FOR ISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE SER), COMPLETE IN PLACE	LF	500	\$15.00	\$7,500.00	\$8.00	\$4,000.00	\$8.00	\$4,000.00
	PLACE, AND COMPACT STORM SEWER UTILITY SPOIL ON LOTS, (TO BE DNLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$4,367.00	\$4,367.00	\$5,688.00	\$5,688.00	\$1,000.00	\$1,000.00
SECTION 1 P.	ART B DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$935,870.10		\$1,027,780.00		\$910,821.70
SECTION 1 P.	ART B MISCELLANEOUS ITEMS								
	ORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), (TO BE USED AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	19455	\$2.40	\$46,692.00	\$1.60	\$31,128.00	\$0.10	\$1,945.50
	RUCT AND MAINTAIN STABILIZED CONSTRUCTION EXIT, LETE IN PLACE	EA	1	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
3 EXTRA	CEMENT STABILIZED SAND, COMPLETE IN PLACE	CY	100	\$30.00	\$3,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
	MULCH SEEDING AND FINE GRADING, (TO BE USED ONLY AS DIRECTED ENGINEER), COMPLETE IN PLACE	AC	3	\$1,500.00	\$4,500.00	\$1,000.00	\$3,000.00	\$1,000.00	\$3,000.00
	CAST SEEDING, FERTILIZING AND WATERING (TO BE USED ONLY AS FED BY THE ENGINEER), COMPLETE IN PLACE	AC	47	\$800.00	\$37,600.00	\$600.00	\$28,200.00	\$600.00	\$28,200.00
	IWATER POLLUTION PREVENTION PLAN COMPLIANCE, LETE IN PLACE	LS	1	\$1,515.00	\$1,515.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00
7 CONST IN PLA	RUCT, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT, COMPLETE CE	EA	1	\$578.00	\$578.00	\$150.00	\$150.00	\$100.00	\$100.00
8 CONST	RUCT, MAINTAIN CONSTRUCTION ENTRANCE, COMPLETE IN PLACE	EA	1	\$1,984.00	\$1,984.00	\$1,500.00	\$1,500.00	\$100.00	\$100.00
	NE CROSSING PER KINDER MORGAN REQUIREMENTS, AIR BRIDGE, LETE IN PLACE	EA	7	\$3,857.00	\$26,999.00	\$2,500.00	\$17,500.00	\$500.00	\$3,500.00
10 INLET I	PROTECTION BARRIER FOR STAGE II INLETS (GRAVEL BAGS), COMPLETE CE	EA	37	\$61.00	\$2,257.00	\$50.00	\$1,850.00	\$10.00	\$370.00
ROOTS	T CLEARING AND GRUBBING, INCLUDES REMOVING ALL STUMPS AND 6, CHIPPING OF CLEARING DEBRIS, AND HAULING OF DEBRIS OFFSITE, AREAS AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	2	\$11,020.00	\$22,040.00	\$7,500.00	\$15,000.00	\$15,000.00	\$30,000.00
SECTION 1 P	ART B MISCELLANEOUS ITEMS SUBTOTAL:				\$148,965.00		\$103,328.00		\$71,215.50

0386-5861D (9.2)

 Page 18 of 28
 FRN F-1386 LJA Engineering, Inc.

BID OPENING LOCATION: TABULATION BY: TABULATION DATE:

TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 BID OPENING DATE: LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024 LJA JOB NO. 0386-5861D (9.2) 4) BLAZEY CONSTRUCTION SERVICES LLC 5) KENNETH LAMB CONSTRUCTION CO.,LTD.

ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
BIDDING SUMMARY								
SUBTOTAL SECTION 1 PART A WATER ITEMS				\$417,245.60		\$425,529.00		\$410,698.20
SUBTOTAL SECTION 1 PART A SANITARY SEWER ITEMS				\$536,712.90		\$437,399.75		\$879,571.40
SUBTOTAL SECTION 1 PART A DRAINAGE FACILITIES ITEMS				\$251,170.10		\$279,411.00		\$266,440.70
SUBTOTAL SECTION 1 PART A MISCELLANEOUS ITEMS				\$51,728.60		\$37,446.40		\$25,627.90
SUBTOTAL SECTION 1 PART B WATER ITEMS				\$764,468.60		\$910,626.00		\$791,652.70
SUBTOTAL SECTION 1 PART B SANITARY SEWER ITEMS				\$893,776.80		\$897,953.00		\$946,419.60
SUBTOTAL SECTION 1 PART B DRAINAGE FACILITIES ITEMS				\$935,870.10		\$1,027,780.00		\$910,821.70
SUBTOTAL SECTION 1 PART B MISCELLANEOUS ITEMS				\$148,965.00		\$103,328.00		\$71,215.50
TOTAL AMOUNT BASE BID				\$3,999,937.70		\$4,119,473.15		\$4,302,447.70

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE

FRN F-1386 Page 19 of 28 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024 0386-5861D (9.2)

7) R CONSTRUCTION CIVIL, LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
SECT	ION 1 PART A WATER ITEMS				
1	12" PVC WATER PIPE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING, ALL NECESSARY BENDS, FITTINGS, AND RETRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	2419	\$66.00	\$159,654.00
2	12" PVC WATER PIPE, C-900, DR 14, ALL DEPTHS, TO INCLUDE BEDDING, ALL NECESSARY BENDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	200	\$120.00	\$24,000.00
3	STEEL CASING FOR 12" WATER LINE, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	200	\$90.00	\$18,000.00
4	PVC CASING FOR 12" WATER LINE AT ALL PAVEMENT CROSSINGS, INCLUDES CEMENT STABILIZED SAND, COMPLETE IN PLACE	LF	30	\$120.00	\$3,600.00
5	6" PVC WATER PIPE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING, ALL NECESSARY BENDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	863	\$30.00	\$25,890.00
6	PVC CASING FOR 6" WATER LINE AT ALL PAVEMENT CROSSINGS, INCLUDES CEMENT STABILIZED SAND, COMPLETE IN PLACE	LF	60	\$70.00	\$4,200.00
7	FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, $6"$ GATE VALVE AND BOX, $6"$ LEAD AND FIRE HYDRANT, COMPLETE IN PLACE	EA	8	\$5,900.00	\$47,200.00
8	NEAR SIDE, DOUBLE OR SINGLE SERVICE, 1" (CTS POLYETHYLENE, SDR-9), WATER SERVICE INCLUDES TRENCH SAFETY, METER BOX, CURB STOP, AND ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	15	\$950.00	\$14,250.00
9	FAR SIDE, DOUBLE OR SINGLE SERVICE, 1" (CTS POLYETHYLENE, SDR-9), WATER SERVICE INCLUDES METER BOX, CURB STOP, TRENCH SAFETY AND ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	13	\$1,700.00	\$22,100.00
10	12" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	4	\$3,750.00	\$15,000.00
11	6" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	2	\$1,500.00	\$3,000.00
12	DRY AUGER AND STEEL CASING FOR 12" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, SPACERS AND END SEALS, ALL DEPTHS, COMPLETE IN PLACE	LF	200	\$430.00	\$86,000.00
13	12" X 6" T.S. & V., COMPLETE IN PLACE	EA	1	\$4,300.00	\$4,300.00
14	12" PLUG AND CLAMP WITH 2" BLOW OFF VALVE AND ASSEMBLY BOX, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00
15	6" PLUG AND CLAMP WITH $2"$ BLOW OFF VALVE AND ASSEMBLY BOX, COMPLETE IN PLACE	EA	2	\$1,700.00	\$3,400.00
16	1" SCHEDULE 40 PVC WATER LINE, ALL DEPTHS, INCLUDING FITTINGS, EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	60	\$19.00	\$1,140.00
	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE DEWATERING OF WATER LINE WORK (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF LF	3282 600	\$0.10 \$22.00	\$328.20 \$13,200.00
19	HAUL, PLACE, AND COMPACT WATER LINE UTILITY SPOIL, ON LOTS (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$1,300.00	\$1,300.00
20	EXTRA CAST IRON FITTINGS (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	TON	1	\$1.00	\$1.00
SECT	ION 1 PART A WATER ITEMS SUBTOTAL:				\$448,563.20

FRN F-1386 Page 20 of 28

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024 0386-5861D (9.2)

7) R CONSTRUCTION CIVIL, LLC

				7) R CONSTRUCTION	ON CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
SECT	TION 1 PART A SANITARY SEWER ITEMS				
1	8" PVC SEWER PIPE, STM D-3034, SDR 26, 0'-8' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	231	\$45.00	\$10,395.00
2	8" PVC SEWER PIPE, STM D-3034, SDR 26, 8'-12' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1085	\$46.00	\$49,910.00
3	8" PVC SEWER PIPE, STM D-3034, SDR 26, 12'-16' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	199	\$48.00	\$9,552.00
4	8" PVC SEWER PIPE, STM D-3034, SDR 26, 16'-20' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	861	\$64.00	\$55,104.00
5	8" PVC SEWER PIPE, STM D-3034, SDR 26, 20'-24' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	559	\$74.00	\$41,366.00
6	SANITARY SEWER FORCE MAIN PLUG AND CLAMP, (ALL SIZES), ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$420.00	\$420.00
7	6" PVC FORCE MAIN, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	397	\$38.00	\$15,086.00
8	PVC CASING FOR 8" SANITARY SEWER, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	140	\$64.00	\$8,960.00
9	DRY AUGER AND STEEL CASING FOR 8" SANITARY SEWER, (EXCLUDES CARRIER PIPE), INCLUDES RESTRAINED JOINT PIPE AND BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	150	\$430.00	\$64,500.00
10	DRY AUGER AND STEEL CASING FOR 6" PVC FORCE MAIN, (EXCLUDES CARRIER PIPE), INCLUDES RESTRAINED JOINT PIPE AND BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	150	\$320.00	\$48,000.00
11	STANDARD SANITARY SEWER MANHOLE FOR $6^{\circ}\text{-}24^{\circ}$ SANITARY SEWER PIPES, $(8^{\circ}$ DEPTH), COMPLETE IN PLACE	EA	19	\$3,650.00	\$69,350.00
12	EXTRA VERTICAL DEPTH OF STANDARD SANITARY SEWER MANHOLE, (OVER 8' DEPTH), COMPLETE IN PLACE	VF	111	\$215.00	\$23,865.00
13	STANDARD 2' SANITARY SEWER DROP STRUCTURE, (FOR $6^{\prime\prime}$ DIAMETER SERVICE LEADS), COMPLETE IN PLACE	EA	2	\$330.00	\$660.00
14	EXTRA VERTICAL DROP (OVER 2') FOR SANITARY SEWER INTERNAL DROP STRUCTURE (FOR 6" DIAMETER SERVICE LEADS), COMPLETE IN PLACE	VF	14	\$8.00	\$112.00
15	STANDARD 2' SANITARY SEWER DROP STRUCTURE, COMPLETE IN PLACE	EA	5	\$900.00	\$4,500.00
16	EXTRA VERTICAL DEPTH (OVER 2') FOR SANITARY SEWER DROP STRUCTURE, COMPLETE IN PLACE	VF	39	\$15.00	\$585.00
17	"LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED BACKFILL, TRENCH SAFETY, RISER, WYE, STACKS, PLUG, MARKER AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	16	\$2,820.00	\$45,120.00
18	"SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED BACKFILL, TRENCH SAFETY, RISER, WYE, STACKS, .PLUG, MARKER AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	15	\$1,350.00	\$20,250.00
19	STANDARD 6" SANITARY SEWER STACK, COMPLETE IN PLACE	EA	2	\$700.00	\$1,400.00

FRN F-1386 Page 21 of 28 LJA Engineering, Inc.



BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024 0386-5861D (9.2)

7) R CONSTRUCTION CIVIL, LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
20	EXTRA VERTICAL DEPTH ON SANITARY SEWER STACK (OVER 1.5' DEPTH), COMPLETE IN PLACE	VF	22	\$10.00	\$220.00
21	8" SANITARY SEWER PLUG, COMPLETE IN PLACE	EA	1	\$50.00	\$50.00
22	REMOVE AND DISPOSE OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER	EA	1	\$150.00	\$150.00
23	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	3147	\$0.10	\$314.70
24	DEWATERING OF 8" SANITARY SEWER LINE WORK, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$22.00	\$22,000.00
25	ADDITIONAL COST OF SANITARY SEWER BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$8.00	\$8,000.00
26	HAUL, PLACE AND COMPACT SANITARY SEWER UTILITY SPOIL ON DESIGNATED FILL AREAS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$1,300.00	\$1,300.00
27	CONTRACTOR SHALL TV AND CLEAN PROPOSED SANITARY SEWER (ALL SIZES) , COMPLETE IN PLACE	LF	3147	\$2.00	\$6,294.00
SECT	ION 1 PART A SANITARY SEWER ITEMS SUBTOTAL:				\$507,463. 70
SECT	ION 1 PART A DRAINAGE FACILITIES ITEMS				
1	18" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	328	\$83.00	\$27,224.00
2	24° RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	250	\$98.00	\$24,500.00
3	30" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	675	\$124.00	\$83,700.00
4	36" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	373	\$164.00	\$61,172.00
5	STAGE I - STANDARD (TYPE "C") INLET, ALL DEPTHS, INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE I INLETS, COMPLETE IN PLACE	EA	15	\$1,300.00	\$19,500.00
6	STAGE II - STANDARD (TYPE "C") INLET, COMPLETE IN PLACE	EA	15	\$2,600.00	\$39,000.00
7	TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$3,250.00	\$19,500.00
8	6:1 SAFETY END TREATMENT FOR 24" CULVERT, COMPLETE IN PLACE	EA	2	\$2,250.00	\$4,500.00
9	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	1477	\$0.10	\$147.70
10	DEWATERING OF STORM SEWER LINE WORK, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$22.00	\$11,000.00
11	ADDITIONAL COST FOR STORM SEWER BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$8.00	\$4,000.00
12	HAUL, PLACE, AND COMPACT STORM SEWER UTILITY SPOIL ON LOTS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$2,100.00	\$2,100.00
13	5" CONCRETE SLOPE PAVING, COMPLETE IN PLACE	SY	6	\$200.00	\$1,200.00

FRN F-1386 Page 22 of 28

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024 0386-5861D (9.2)

7) R CONSTRUCTION CIVIL, LLC

				1) K CONSTRUCTI	ON CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
14	DRAINAGE SWALES, "V" BOTTOM, 3:1 SIDE SLOPES, COMPLETE IN PLACE	LF	455	\$5.00	\$2,275.00
15	18" RIP-RAP, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	SY	14	\$160.00	\$2,240.00
SECT	ION 1 PART A DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$302,058.70
SEC1	TION 1 PART A MISCELLANEOUS ITEMS				
1	REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	6779	\$2.00	\$13,558.00
2	CONSTRUCT AND MAINTAIN STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00
3	EXTRA CEMENT STABILIZED SAND, COMPLETE IN PLACE	CY	50	\$45.00	\$2,250.00
4	HYDROMULCH SEEDING AND FINE GRADING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1.3	\$1,500.00	\$1,950.00
5	BROADCAST SEEDING, FERTILIZING AND WATERING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	34	\$650.00	\$22,100.00
6	STORMWATER POLLUTION PREVENTION PLAN COMPLIANCE, COMPLETE IN PLACE	LS	1	\$1,300.00	\$1,300.00
7	CONSTRUCT, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00
8	INLET PROTECTION BARRIER FOR STAGE II INLETS (GRAVEL BAGS), COMPLETE IN PLACE	EA	15	\$50.00	\$750.00
SECT	ION 1 PART A MISCELLANEOUS ITEMS SUBTOTAL:				\$43,908.00
SEC1	TION 1 PART B WATER ITEMS				
1	12" PVC WATER PIPE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING, ALL NECESSARY BENDS, FITTINGS, AND RETRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	3650	\$68.00	\$248,200.00
2	STEEL CASING FOR 12" WATER LINE, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	52	\$124.00	\$6,448.00
3	PVC CASING FOR 12" WATER LINE AT ALL PAVEMENT CROSSINGS, INCLUDES CEMENT STABILIZED SAND, COMPLETE IN PLACE	LF	120	\$90.00	\$10,800.00
4	8" PVC WATER PIPE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING, ALL NECESSARY BENDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	4175	\$40.00	\$167,000.00
5	8" PVC WATER PIPE, C-900, DR 14, ALL DEPTHS, TO INCLUDE BEDDING, ALL NECESSARY BENDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	150	\$55.00	\$8,250.00
6	STEEL CASING FOR 8" WATER LINE, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	52	\$65.00	\$3,380.00
7	PVC CASING FOR 8" WATER LINE AT ALL PAVEMENT CROSSINGS, INCLUDES CEMENT STABILIZED SAND, COMPLETE IN PLACE	LF	160	\$64.00	\$10,240.00
8	6" PVC WATER PIPE, C-900, DR 18, ALL DEPTHS, TO INCLUDE BEDDING, ALL NECESSARY BENDS, FITTINGS, AND RESTRAINED JOINTS WHERE REQUIRED, COMPLETE IN PLACE	LF	242	\$32.00	\$7,744.00
9	FIRE HYDRANT UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, $6^{\rm o}$ GATE VALVE AND BOX, $6^{\rm o}$ LEAD AND FIRE HYDRANT, COMPLETE IN PLACE	EA	18	\$6,200.00	\$111,600.00

FRN F-1386 Page 23 of 28

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024 0386-5861D (9.2)

7) R CONSTRUCTION CIVIL, LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
10	NEAR SIDE, DOUBLE OR SINGLE SERVICE, 1" (CTS POLYETHYLENE, SDR-9), WATER SERVICE INCLUDES TRENCH SAFETY, METER BOX, CURB STOP, AND ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	42	\$870.00	\$36,540.00
11	FAR SIDE, DOUBLE OR SINGLE SERVICE, 1" (CTS POLYETHYLENE, SDR-9), WATER SERVICE INCLUDES METER BOX, CURB STOP, TRENCH SAFETY AND ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	67	\$1,700.00	\$113,900.00
12	12" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	8	\$3,750.00	\$30,000.00
13	8" AWWA GATE VALVE AND BOX, COMPLETE IN PLACE	EA	11	\$2,100.00	\$23,100.00
14	DRY AUGER AND STEEL CASING FOR 12" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, SPACERS AND END SEALS, ALL DEPTHS, COMPLETE IN PLACE	LF	52	\$485.00	\$25,220.00
15	DRY AUGER AND STEEL CASING FOR 8" WATER LINE, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, SPACERS AND END SEALS, ALL DEPTHS, COMPLETE IN PLACE	LF	52	\$415.00	\$21,580.00
16	12" PLUG AND CLAMP WITH 2" BLOW OFF VALVE AND ASSEMBLY BOX, COMPLETE IN PLACE	EA	1	\$2,100.00	\$2,100.00
17	$8"\mbox{PLUG}$ AND CLAMP WITH $2"\mbox{BLOW}$ OFF VALVE AND ASSEMBLY BOX, COMPLETE IN PLACE	EA	2	\$1,850.00	\$3,700.00
18	6"PLUG AND CLAMP WITH 2" BLOW OFF VALVE AND ASSEMBLY BOX, COMPLETE IN PLACE	EA	1	\$1,850.00	\$1,850.00
19	2" BLOW OFF VALVE & BOX, COMPLETE IN PLACE	EA	1	\$1,550.00	\$1,550.00
20	1° SCHEDULE 40 PVC WATER LINE, ALL DEPTHS, INCLUDING FITTINGS, EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	260	\$18.00	\$4,680.00
21	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	8067	\$0.10	\$806.70
22	DEWATERING OF WATER LINE WORK (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	200	\$22.00	\$4,400.00
23	HAUL, PLACE, AND COMPACT WATER LINE UTILITY SPOIL, ON LOTS (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$3,000.00	\$3,000.00
24	EXTRA CAST IRON FITTINGS (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	TON	1	\$1.00	\$1.00
SECT	ION 1 PART B WATER ITEMS SUBTOTAL:				\$846,089.70
SECT	ION 1 PART B SANITARY SEWER ITEMS				
1	8" PVC SEWER PIPE, STM D-3034, SDR 26, 0'-8' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	3226	\$42.00	\$135,492.00
2	8" PVC SEWER PIPE, STM D-3034, SDR 26, 8'-12' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	2502	\$43.00	\$107,586.00
3	8" PVC SEWER PIPE, STM D-3034, SDR 26, 16-20' CUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	698	\$64.00	\$44,672.00
4	SANITARY SEWER FORCE MAIN PLUG AND CLAMP, (ALL SIZES), ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$420.00	\$420.00
5	6° AWWA C900, FORCE MAIN, DR 18, ALL DEPTHS, INCLUDING FITTINGS, EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	4287	\$30.00	\$128,610.00

FRN F-1386 Page 24 of 28

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024 0386-5861D (9.2)

7) R CONSTRUCTION CIVIL, LLC

				7) IN CONSTRUCTION CIVIL, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
6	PVC CASING FOR 8" SANITARY SEWER, INCLUDES SPACERS AND END SEALS, COMPLETE IN PLACE	LF	176	\$66.00	\$11,616.00
7	DRY AUGER AND STEEL CASING FOR 8" SANITARY SEWER, (EXCLUDES CARRIER PIPE), INCLUDES RESTRAINED JOINT PIPE AND BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	52	\$530.00	\$27,560.00
8	DRY AUGER AND STEEL CASING FOR 6" PVC FORCE MAIN, (EXCLUDES CARRIER PIPE), INCLUDES RESTRAINED JOINT PIPE AND BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	52	\$400.00	\$20,800.00
9	STANDARD SANITARY SEWER MANHOLE FOR $6^{\circ}\text{-}24^{\circ}$ SANITARY SEWER PIPES, $(8^{\circ}$ DEPTH), COMPLETE IN PLACE	EA	45	\$3,050.00	\$137,250.00
10	EXTRA VERTICAL DEPTH OF STANDARD SANITARY SEWER MANHOLE, (OVER 8' DEPTH), COMPLETE IN PLACE	VF	59	\$215.00	\$12,685.00
11	STANDARD 2' SANITARY SEWER DROP STRUCTURE, (FOR 6" DIAMETER SERVICE LEADS), COMPLETE IN PLACE	EA	14	\$330.00	\$4,620.00
12	EXTRA VERTICAL DROP (OVER 2') FOR SANITARY SEWER INTERNAL DROP STRUCTURE (FOR 6" DIAMETER SERVICE LEADS), COMPLETE IN PLACE	VF	60	\$10.00	\$600.00
13	STANDARD 2' SANITARY SEWER DROP STRUCTURE, COMPLETE IN PLACE	EA	3	\$450.00	\$1,350.00
14	EXTRA VERTICAL DEPTH (OVER 2') FOR SANITARY SEWER DROP STRUCTURE, COMPLETE IN PLACE	VF	14	\$14.00	\$196.00
15	"LONG SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED BACKFILL, TRENCH SAFETY, RISER, WYE, STACKS, PLUG, MARKER AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	38	\$2,750.00	\$104,500.00
16	"SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, ALL DEPTHS, INCLUDING CEMENT STABILIZED BACKFILL, TRENCH SAFETY, RISER, WYE, STACKS, .PLUG, MARKER AND ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	59	\$1,300.00	\$76,700.00
17	STANDARD 6" SANITARY SEWER STACK, COMPLETE IN PLACE	EA	28	\$670.00	\$18,760.00
18	EXTRA VERTICAL DEPTH ON SANITARY SEWER STACK (OVER 1.5' DEPTH), COMPLETE IN PLACE	VF	51	\$9.00	\$459.00
19	8" SANITARY SEWER PLUG, COMPLETE IN PLACE	EA	3	\$50.00	\$150.00
20	REMOVE AND DISPOSE OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER	EA	1	\$150.00	\$150.00
21	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	10713	\$0.10	\$1,071.30
22	DEWATERING OF 8" SANITARY SEWER LINE WORK, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$22.00	\$2,200.00
23	ADDITIONAL COST OF SANITARY SEWER BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$8.00	\$800.00
24	HAUL, PLACE AND COMPACT SANITARY SEWER UTILITY SPOIL ON DESIGNATED FILL AREAS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$3,850.00	\$3,850.00
25	CONTRACTOR SHALL TV AND CLEAN PROPOSED SANITARY SEWER (ALL SIZES) , COMPLETE IN PLACE	LF	10713	\$2.00	\$21,426.00

FRN F-1386 Page 25 of 28

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024 0386-5861D (9.2)

7) R CONSTRUCTION CIVIL, LLC

				1) K CONSTRUCTION	N CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
26	REMOVE 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER, INCLUDES ANY NECESSARY ADAPTERS, CONNECTORS OR FITTINGS, COMPLETE IN PLACE	EA	1	\$150.00	\$150.00
SECT	ION 1 PART B SANITARY SEWER ITEMS SUBTOTAL:				\$863,673.30
SECT	ION 1 PART B DRAINAGE FACILITIES ITEMS				
1	18" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	497	\$68.00	\$33,796.00
2	24" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	2765	\$82.00	\$226,730.00
3	30" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	600	\$112.00	\$67,200.00
4	36" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	673	\$138.00	\$92,874.00
5	42" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	276	\$163.00	\$44,988.00
6	48" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	499	\$198.00	\$98,802.00
7	54" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1" OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	144	\$297.00	\$42,768.00
8	60" HIGH PERFORMANCE CORRUGATED POLYPROPYLENE DUAL WALL STORM SEWER, ASTM F2881 OR AASHTO M330, ALL CUTS, TO INCLUDE BEDDING AND BACKFILL AND CEMENT STABILIZED SAND BACKFILL UNDER AND WITHIN 1' OF PAVING, FITTINGS AND ALL APPURTENANCES, COMPLETE IN PLACE	LF	210	\$282.00	\$59,220.00
9	36" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	142	\$180.00	\$25,560.00
10	60" RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	50	\$458.00	\$22,900.00
11	BORE AND JACK, OR TUNNEL FOR 60" RCP, (EXCLUDES LINE PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	50	\$1,730.00	\$86,500.00
12	STAGE I - STANDARD (TYPE "C") INLET, ALL DEPTHS, INCLUDES TEMPORARY SILT BARRIER FENCE FOR STAGE I INLETS, COMPLETE IN PLACE	EA	37	\$1,320.00	\$48,840.00
13	STAGE II - STANDARD (TYPE "C") INLET, COMPLETE IN PLACE	EA	37	\$2,600.00	\$96,200.00
14	TYPE "C" MANHOLE FOR 42° STORM SEWER AND SMALLER, ALL DEPTHS, COMPLETE IN PLACE	EA	24	\$3,300.00	\$79,200.00

FRN F-1386 Page 26 of 28

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024 0386-5861D (9.2)

7) R CONSTRUCTION CIVIL, LLC

				7)1000101100110	DIN OIVIL, LLO	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	
15	TYPE "C" MANHOLE FOR 48" STORM SEWER AND LARGER, ALL DEPTHS, COMPLETE IN PLACE	EA	8	\$8,800.00	\$70,400.00	
16	BORE AND JACK 36" RCP STM. UNDER EXISTING UTILITIES AND STREET, DOES NOT INCLUDE PIPE, COMPLETE IN PLACE	LF	52	\$1,200.00	\$62,400.00	
17	REMOVE AND DISPOSE 8" BRICK WALL PLUG AND CONNECT PROPOSED PIPE, ALL SIZES, COMPLETE IN PLACE	EA	2	\$675.00	\$1,350.00	
18	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	5927	\$0.10	\$592.70	
19	EXTREME EVENT OVERFLOW SWALE, COMPLETE IN PLACE	LS	1	\$9,000.00	\$9,000.00	
20	DEWATERING OF STORM SEWER LINE WORK, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$22.00	\$11,000.00	
21	ADDITIONAL COST FOR STORM SEWER BEDDING AND BACKFILL FOR UNSATISFACTORY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	500	\$8.00	\$4,000.00	
22	HAUL, PLACE, AND COMPACT STORM SEWER UTILITY SPOIL ON LOTS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$8,100.00	\$8,100.00	
SECT	ION 1 PART B DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$1,192,420.70	
SECT	ION 1 PART B MISCELLANEOUS ITEMS					
1	REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	19455	\$2.00	\$38,910.00	
2	CONSTRUCT AND MAINTAIN STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	
3	EXTRA CEMENT STABILIZED SAND, COMPLETE IN PLACE	CY	100	\$45.00	\$4,500.00	
4	HYDROMULCH SEEDING AND FINE GRADING, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	3	\$1,500.00	\$4,500.00	
5	BROADCAST SEEDING, FERTILIZING AND WATERING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	47	\$650.00	\$30,550.00	
6	STORMWATER POLLUTION PREVENTION PLAN COMPLIANCE, COMPLETE IN PLACE	LS	1	\$1,300.00	\$1,300.00	
7	CONSTRUCT, MAINTAIN, AND REMOVE CONCRETE TRUCK WASHOUT, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	
8	CONSTRUCT, MAINTAIN CONSTRUCTION ENTRANCE, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	
9	PIPELINE CROSSING PER KINDER MORGAN REQUIREMENTS, AIR BRIDGE, COMPLETE IN PLACE	EA	7	\$14,000.00	\$98,000.00	
10	INLET PROTECTION BARRIER FOR STAGE II INLETS (GRAVEL BAGS), COMPLETE IN PLACE	EA	37	\$50.00	\$1,850.00	
11	SELECT CLEARING AND GRUBBING, INCLUDES REMOVING ALL STUMPS AND ROOTS, CHIPPING OF CLEARING DEBRIS, AND HAULING OF DEBRIS OFFSITE, (ONLY AREAS AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	2	\$11,000.00	\$22,000.00	
SECT	SECTION 1 PART B MISCELLANEOUS ITEMS SUBTOTAL: \$205,110.00					

FRN F-1386 Page 27 of 28

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

TOTAL AMOUNT BASE BID

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE TO SERVE MAGNOLIA FOREST SECTION 1 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 218 MONTGOMERY COUNTY, TEXAS SEPTEMBER 12, 2024 LJA ENGINEERING, INC. S. YOUNG SEPTEMBER 12, 2024 0386-5861D (9.2)

\$4,409,287.30

7) R CONSTRUCTION CIVIL, LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
BIDDING SUMMARY					
SUBTOTAL SECTION 1	PART A WATER ITEMS				\$448,563.20
SUBTOTAL SECTION 1	PART A SANITARY SEWER ITEMS				\$507,463.70
SUBTOTAL SECTION 1	PART A DRAINAGE FACILITIES ITEMS				\$302,058.70
SUBTOTAL SECTION 1	PART A MISCELLANEOUS ITEMS				\$43,908.00
SUBTOTAL SECTION 1	PART B WATER ITEMS				\$846,089.70
SUBTOTAL SECTION 1	PART B SANITARY SEWER ITEMS				\$863,673.30
SUBTOTAL SECTION 1	PART B DRAINAGE FACILITIES ITEMS				\$1,192,420.70
SUBTOTAL SECTION 1	PART B MISCELLANEOUS ITEMS				\$205,110.00

FRN F-1386 Page 28 of 28